Time : 3 Hours &

Instructions :

(1)

(i)

Each question carries one mark.

(28 L:b"-éléa PIE-S Xw’dozr god.

Choose the correct or most appropriate answer from the given options to the following questions
and darken, with blue/black ball point pen the corresponding digit 1, 2, 3 or 4 in the circle
pertaining to the question number concerned in the OMR Answer Sheet, separately supplied to

you.

BHS av)d L Lé-’éléo aésa&é T3S DOTS DI S \9263151’3 [ L9
%003 ®os 1, 2, 3 B 4 I ad)d OMR DEFES HES0S® (DA H
202080035 Dopgho DEEL /el rS ool DH) GVTACD J0DHTI.

BOTANY
1. Identify the correct pair of combinations
(I) Zeatin — Adenine derivative — Overcoming apical dominance
{an C,H, — Indole compound — Effective in fruit ripening
(II‘I) ABA — Carotenoid derivative — Induction of parthenocarpy
(IV) GA; — Terpene — Bolting in cabbage
DOTHS Do¥oY Ho =Sl HboNod.
I 205785 — w&dS GENI DD — @Lm@§§é$a TEE° S @200
(I C,H, = 208°S TorAESD — Kpo*é HODEISH &6 &0
() ABA — S8'8ond ad)s)d» — @dhE Dol (biw
(V) GA; — 838 — sBRS* 5°Yoh
(1) (1, 1 2) (I, 1v) 3) d11v) (4) I, 1v)
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2. Study the following lists

List-I List-11
(A) Munch (I)  Stomatal movement
(B) Darwin (I) Hastened fruit ripening by volatiles
(C) Cousins (Ill) Growth of coleoptiles towards light

(D) Levitt (IV) Nature of enzyme action

: (V) Bidirectional transport in phloem
& (800 wrderod wEgohdo Fokod

dor-1 adae-11
(A) dwon D B Sore Jodo
(B) @08% ) =hy3e dorgrede oo DEIETAGDD G0
(©) $25) () (Fo%d LoHEin 08 B DEHEO
(D) 8D& (IV) - DSBS Sovg Beardo

(V) 0¥ Sneroos’ 8304 Saver

The correct match is
20 DOTHS FdoY

Aa @B ©O© O
1) dm vy @ d)
2) AV (V). o) -~ D
G @ Ay M
(4 gt @ - av) (V)

3. What is the type of nutrition in purple and green sulphur bacteria ?

(1) Photoautotrophic (2) Chemoautotropic

(3) Photoheterotrophic (4) Chemoheterotrophic

DS HOBw LKD)y ‘{6095 wr§0chSow Fan S¥o IB?

(1) sro8 Jgadoo Fado (2) BJ %S Dgado FFndo

(3) s*08 DI o (4) EJr0%S dJFFado
Rough Work
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4. Study the following lists

List-I _ List-I1

(A) Viroid infecting tomato plant (I) 6,500 nucleotides
(B) TMV (II) 300-400 nucleotides
(C) Polio virus : (IlT) Two identical molecules of RNA
(D) Lentivirus ; (IV) Many sided
(V) Prion

Gs L%o&)" Do vPgdhvo Bobod

FRee-1 a1l
(A) E6rE® Fwsy s HoEDod Forand (1) 6500 SrgsTrBowo
(B) TMV : (I) 300-400 So~g8TIrBedoen
(C) POT 38D () Bod FErHgs Ko RNA emHen
(D) Bos B85 (IV) 250090

' | (V) (PSS

The correct match is

20 DTS FdoY
LAY ) Y ey D
(H am @ av) d
2 any @ av) ada
3 a .av) vy a0
@ @O (V) dmn dn

5. A cross between pure breeding plant with red dots on leaves and pure breeding white dotted
plant produces heterozygotes that have both red and white dots. On self pollination of F,,
what fraction of plants show both red and white dots on the leaves ?

JEro NS A8oNTo Do youd) v‘-é'ocg B0E S Boonory D yoedy) B¢
B8 8 Do¥¥mo WA IHNH) HO0X» B Hdyew Bodr &d) IR
Swiyeres ¢d38 Tohwgron. F, & Jgdhord Hoddho S2IQYS HEre g
DR H0Bw BewPy Hdyew Todr &) B o grdo (fraction) Hdod?

(H 122 2) 14 (3) 273 : (4) 3/4

Rough Work
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6. How many phenotypic classes are produced for a pair of characters in a monohybrid test
cross ? ' .
of 28 oo EOAH0ED ¥ Do¥dos® Hdg Vo¥Emo Hy V) SYIgdrd
Jseen H0oN?

(l) 2 2) 4 3):1 4) 3
7. Study the following lists
List-1 List-I1
(A) Operon (I) Binding of repressor proteins
(B) Operator (I) Binding of RNA polymerase
(C) Promoter (TIIT) Inactivated by inducer
(D) Repressor (IV) Binding to polynucleotide phosphorylase

: (V) Polycistronic structural gene regulation
& (808 rderod wgdhdo Bobod

Do - Doe-11
(A) 22o°S D) BPFE P*ES 20pSLHE
(B) w5066 (II) RNA 705 TE 20dSHH®
(C) Pr&b () (D850 Jbgdgo Bovwdodod
(D) B(»>E IV) >dsrgdcirss PO TED 206SHHO

_ (V) 302395 NeHL 855055’2) Vo0 (S
The correct match is
28 HOTHD FdoR
Ty B L ACE (D)
1) avy damn @ (In
2 an . v av)y @)
) @ adavy dan ()
4) V)@ ). (1)

8. [Escherichia coli, in which both the strands of DNA are labelled with I5N is transferred to
14N medium and allowed to replicate for three generations. Find out the number of hybrid
DNA molecules in the third generation.

DNA Bod e N & Bend Tohwdd JI¥)8adir §°8% N o w5rdg0s°s
S50 Hardy Sorw HEH BB EHSDET 6. Sordd $808° Ho¥8 DNA emoo
2609,35:63 ES0A"Sodw.

(1) 8 (2) |2 (3) 12 (4) 10

Rough Work -
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9. A DNA segment has AGA GCA ATA CCA ACA ACC nucleotides in a sequence. The
segment of polypeptide chain synthesized from this DNA through mRNA has the following
aminoacid sequence
2% DNA 208808° AGA GCA ATA CCA ACA ACC o3 Srg8TWrBhen SHHEHR0S®
garyon. & DNA %008 mRNA ogo doFnoswdd FODPE Feoodost

oS wdre SH/EH0 & Fom sTyow

(1) Arg — Tyr — Ser — Cys — Trp — Gly
(2) Ser — Arg — Tyr — Gly — Cys — Trp
(3) Cys — Trp — Ser — Gly — Arg — Arg
4) Tyr - Cys — Trp — Ser — Gly — Arg

10. Study the following lists
List-I List-II
(A) Cellulase (I) Cell wall of bacteria
(B) Chitinase (I) Cell wall of plant cells
(C) Lysozyme (ITI) Proteins
(D) Protease (IV) Cell wall of fungal cells
(V) RNA
& (800 rdErol wdgohso Fokod
ader-1 Re-11
(A) DeogdE ) wzr§ocire EwEdso
(B) @633&’ () o) Sero Sew¥SSo
(C) B¥zsH (III) (@*SSeo :
(D) (@*ETHE (V) 300 ($ Eere E¥HS0
(V) RNA
The correct match is.
38 HOTHS FéoH
R RN Y ) ()
(=0 V) @) . dip
2 a @O dv) dmn
Gy - dil)y (b
4 0 aA¥)- @) W)
Rough Work
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11. Tobacco plants resistant to Meloidegyne incognitia were developed using a method of

cellular defence which relates to

(1) Silencing the translation of specific mRNA
(2) Silencing the transcription of specific mRNA

(3) Activation of specific tRNA
(4) Activation of specific mRNA

S ond T adsehyndird A6 LS EOAS T 3335‘2,0;63 S BT SoT 0%0er 8
GHT/rAODSD Endgn 258 AV8 HoohoNod

(h 237
@) 233
3) Y tRNAD ¢82d8%ob
4) 23% mRNAS> adadEso

mRNA Gog), 3078 50 Byofi (Silencing) Vasne
mRNA TBooE) ©D0Bpddnd 28Jyoh (Silencing) Tosne

12. Study the following lists
List-I

(A) Vector

(B) Downstream processing

(C) Cry II Ab

(D) Transposons

& (B0b wrderod wdgohdo Bokod
er-1

(A) o580

(B) edpdaroe (H18c%

(C) CryIlAb

(D) (&)t

The correct match is
20 BOTHS FdoY

(A) «B) O (D) |
(D@v) AN - () )
@) @n o (Y @dy-
(3) V- Al @) (V)
@ avy v O d

List-II
(I) Resistant to cotton bollworm
(II) Mobile genetic elements
(IIT) Controls corn borer
(IV) Ti plasmid
(V) Purifying protein in biopharmaceuticals

da-11
D) %8 2°&ar5% (HBI°EES
() Sob 2dgIdTod
(I (H8svodH FOTW PS> Joho(Se
Iv) Ti @‘.og‘féo
(V) &8 Bagrod® (P83 HRDIB6

Rough Work
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13. Identify the correct pair of characters of a bacterium which is useful in production of
methane
(I) Recyclers of inorganic nutrients
(I) Present in stomach of cattle
(1IT) Obtain energy from sunlight
(IV) Aerobes : ‘
NBS aS)8 TSerds ¢OTrA0T w005y TwE) VOTHS vFmre =S
o8 0S0d
() @Do@csh FFhsro PIsSSdsrew
1) dHHo 2g8°Fos® sowrow
(111) K:mdgd%’g So0bh 480 Fodverow
(V) s*os0nd8 E2Hen
(1) (1, 1) ) (11 3) (1, IV) 4) (1L IV)

14. Which one of the following variety is resistant to white rust disease

(1) Pusa Sem 2 : (2) Pusa Komal
(3) Pusa Sawani (4) Pusa Swarnim
B8 HoHH BHoeww gH8 (D8I S ES Sro S¥o
(1) drd 5 2 Q) Grd §8%:8
(3) QrIr Jdav 4) ‘ésgo

15. Identify the correct pair of combinations
(I) Vallisneria = Long stalked female flowers — Hydrophily
(II) Tribulus — Annual — Root succulent
(1) Hydrilla e Submerged rooted hydrophytes — Aerenchyma
(IV) Casurina — Perennial — Phylloclades
HOTHS To¥doH =SB Kogoéo&
) 008> — FEIS Syoerende W9 Py — zodod HBodIyo
() Bwogod — Eagso — FVFBE I 5‘#017.)
() I dg° — A8S* $0J0 @08 oA ¥8wo TodS JwHpos — arafn JYrod
D& EwErwo

(V) s*e2Bar — 2o~oa8%o — D@ F om0
(1) (I, IV) (2) (1, I 3) 4 1IV) (4) (1, 1)
Rough Work
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16. Find out the correct pair of statements

() Incompletely plasmolysed cell, pressure potential does not contribute to water potential.

(II) If a cell is placed in hypotonic solution for longer time, the cell membrane shrinks
away from its cell wall.

(IIT) Apoplastic system comprises of interconnected protoplasts.
(IV) Polypeptides have more imbibing capacity than polysaccharides.

VOIS argwge =zES Hofodod

D) Pom Ea(SSg b08%S0 BodI Ewrod® ﬁ)e.?-‘éég Dendest %aéé%%& (S
D &0% S

(D) 28 &) woyTd (Tdnos’ 6gs"oo oS ¥ ¥¥Sdo H00d
£0W0WIERY Food

() (@S*F[o wodgro Ig5% oFPFP Sg596° @owwod

(V) >d7p3B&Go $0B S"@“"oafgﬁo D>SHE %S

() (4, IV) (2 4 1) (3) (L 1Vv) (4) (L IV)

17. Identify the physiological functions of two microelements, of them, the former is required
for the synthesis and the latter for oxidation of IAA respectively.
(I) Constituent of chlorophyll molecule
(I) Maintenance of cell turgidity
(ITI) Splitting of water in photosynthesis
(IV) Co-factor for carboxypeptidase
(V) Component of methionine
HEDM BEBS TAA JoFand, Tos'd IAA viyEdn®H ©ddd5Thg Tod
Srg ) Phso 88 S8y dGod Hoosod
() HE508 wHS® 28 Ko
() Sewro DySode DPowowads (Maintenance)
(I 8Swadg BoTrA(8ois® 8 IV &S
(IV) seoe 8y RTEE do s 8¥o
(V) 8T edonpib¥o
The correct answer is
20 DOTDS ddrardo
(1) L, V) 2 av, 1 3 v, ) 4 @v,1n

Rough Work
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Identify the correct pair of answers indicating the reactions catalysed by “Isomerases” class
of enzymes.

(I) Conversion of glyceraldehyde-3-phosphate to dihydroxy acetone phosphate in Calvin
cycle.

(I) Formation of malic acid from fumaric acid in Tricarboxylic acid cycle.
(IIT) Carboxylation of phosphoenol pyruvate in Hatch-Slack pathway.
(IV) Fructose-6-phosphate formation from Glucose-6-phosphate in EMP pathway.

"o T0E T JerdfD ISBSown ¢ 839000T SPgo wdd Srdod o&a‘a‘a‘bl
%28 0S0a.

(D) 5983 dochod® ABCDZE-3- 08, @ r@ed) dVEPS o8 Srddo

(I1) B9sco°)8 0§ Soos0St RgS00E eaéao 3008 :)JTEJE @0 A dbo
() 5*5-85 HFod® é‘@‘géaaré' DEDE 5°0°)8)0a S 288d&0

(IV) EMP o)GSoeS"" o8 E-6- .;?‘(ogtf %008 ($§°=-6- @"‘foatf D8 b0

The correct pair is

28 HOTHS =°8

() L 1v) 2) {d,1v) (3) d, 1n (4) (1, 1)

19.

The number of ATP molecules formed from 8 molecules of H,0 due to noncyclic electron
transport and subsequent photophosphorylation is

[Assume that quinone cycle facilitates the transfer 4H" to the lumen of thylakoid membrane
for every two electrons passing through electron transport system and one ATP is formed
for every 3H" moving down the proton gradient by the mediation of F, — F, ATPase]

8 wmoHo H,0 Soo0d @hﬁtéoﬁo QoS 9S e, SSS088 s08 &3‘963‘&15
20dom Ddaa ATP emodo Dowpg :

(»305135 Sarer orgo Ho%doD (8 TBodo .305*'35053 §5555 Sooso 4H" o
Eos*oao& LI ES)) ?555056“3 aafb@ Ta‘coaocﬁf'\) D0 5D | FEer Do (Saa’:wé [aYa P

a4m B8 ATP 39 aego Hobrdod Loae'a JH" o% aaé ATP Q8388006
Q0B 0d) ,
(1) 8 2) 4 3) 16 4) 12

20.

The correct sequence of the involvement of the following components in non-cyclic electron
transport

oS85 JosT9s 8 oeaees® FST & (800 wIPobsTo DOTHS (EHodw
(h PC (I PQ ; (III) Pheo (IV) Fd

The correct sequence is
DOTPS HEJED0

(1) {1, L, 11, IV) 2 AL, @G dvLIiLmny @ JdLlIL L Iv)

Rough Work

AM 2015 D 9S8
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/D _

Which of the two statements together supports that respiratory pathway is an ‘“amphibolic pathway’ ?
(I) Fats breakdown to glycerol and fatty acids, subsequently yields acetyl co-enzyme ‘A’.

(I) In respiration, C-C bonds of complex compounds breakdown through oxidation leading
to release of energy. .

(ITT)- Acetyl coenzyme ‘A’ from the respiratory pathway is withdrawn for the synthesis of
fatty acids.

(IV) Proteins are degraded by protease to amino acids and enter the respiratory pathway.

& (800 o Bodo Frgwger Erd Fgo|8ok ¥ “eefos EH(8% vFo” ®d@R)

.Ogvaa_:'oaa .

(D) &Hgoo, AD0S Ho08dB» §'RPY wHFreom ?D{)‘_):Slo Bod S850880 DS
§-d58S ‘AT Q8 ydeEron

(D) agd8c%Hs® Dof R zoc:ﬁg‘oe.?‘ C-C wogren w8y¥dmo argo DVNS)
380 J%odeo Ton

(II) Q28BS 5535§53 ‘A’ e FeOEASr DFo oW 2ALDE §FTHY wIro
P0RR I8 S HrddDEeTon

(IV) (@ ESo0, FETHE o°g0° oS wdroom IDYI) B, TIHBNT HHos*8
(B33 0w, T

(1) {11 - £2) 1% 3) dL 1v) (4) (I, III)

22.

A taxon belonging to order sapindales has a single seeded fleshy fruit with edible mesocarp
and stony endocarp. The number of carpels in the flower of this taxon is
o860 Hoos® Bo¥wrod wodHoddord) Hoocsn 83 o658 HoEdS08® oF
DET) £0A &03d ¥ R FDoBOT (¥3°08 Bod &onod. & N
B DR Hodere Dowg & IFom sowwod :
(1).3 (2) 3 3 1 4) 2

23.

Identify the correct pair of combination

(1) Aspergillus — Meiosis occurs in asci — Produces citric acid

(I) Albugo — Coenocytic hyphae — Parasite on mustard

(IIl) Penicillium — Basidiospores — Multicellular

(IV) Colletotrichum — Conidia — Smut disease

DOTNS DoENoPo wdd Kodowod :

D) ©9)0e0 — ed)dos® FohEde JFad =dHfhdod — JDBE edo
a6 8

() woof® — JDSHEE SohPHoo — ud Iy D Do ED

(IIl) 2PR2OS0 — Ei?o&&ré“gdow — RIruEmdingo

IV) 8 BopSo — 58050800 — seénd Sfoed

(1) (mn, (1 (2) (), av) 3) O, av) @ @), dn

Rough Work
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24. Study the following lists

List-I List-11
(A) Genetic nature of RNA - (I) George Gamow
(B) Binomial Nomenclature (II) Hugo de Vries
(C) Triplet Codon (1) Frankel Conrat
(D) Ecology : (IV) Warming

(V) Gaspard Bauhin
& 808 wrdeod ofgdhdo Jabod

-1 Dae-11
(A) 88.03.. mdogsdgo O =§ oIS
(B) &35 Irab¥8mo () Sgh® & (S
(C) (8% Jos&o0 (1) (308 §°So°&
(D) w8 T390 (IV) a°830h

(V) ™38 %S

The correct match is
ad VOTHS doD

(A) ) Ay (D)
(DO @) < Sy (V)
@ dm. vy av)y @
(3)-(F)e )0y = (D)
@ - - ) 0 - adv)

25. Identify the correct pair of combination
(I) Chara — Monoecious — Chlorophyll a, b,
(II) Salvinia — Homosporous — Free floating hydrophyte
(Ill) Ectocarpus — Filamentous form — Chlorophyll a, d
(IV) Laminaria — Biflagellate gametes — Haplo-diplontic life cycle
DOTHS FosVoPo =8l HdoNod.
(D) scoc — &gdorr|fow — HET-0g0 a,b
(1) é‘@s&)do‘ — ‘ééo?o%ﬁg)as?ga — 2563:’3) ’foszﬁan" G [0,
(1) Qg"s‘égﬁ — So&drdo — Jdr0&0 a, d
(Iv) _0131330053* — BgEFPasnd HoddrH Derren — Dg-ésoﬁo?géé 208 I ¥o
(1) (I, (1D 2 O, dv) (3) (D, dII) (4) I, av)

Rough Work
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(1) Neem — Absence of buds in the axil of leaflets — Pinnately compound leaf

26. Identify the correct combination

(2) Sunflower — Opposite phyllotaxy — Inferior ovary

(3) Carrot — Flowers brought to same height due to varied lengths of pedicels — Involucre of bracts

(4) Pistia — Discoid stem — Lateral branch with many internodes

}66'“?_133;‘6 FoEJoPBs Ks00¥od.

(1) 35 — s@so Aimos® Tnfow SHosdo — DTS Bodwg HEo

(2) dordgsrodo — PR DEJT°gR0 — DWWy wow3o0o

(3) 586 — DA yHyosren ITIW PEHS® sod @au;)abl 28 JHS® sodbo —
oax:SLs’og)meXﬁ

(4) DA — I°F scodo — o3¢ ¥e0R) éoésa’mo{)a 0% a‘ﬁgsﬁmm

27. Three plants (A, B, C) are observed. ‘A’ has suckers. The edible parts in it are the inflorescence
axis and juicy succulent bracts. ‘B’ belongs to family Moraceae. The edible part is succulent
perianth. In ‘C’ polyadelphous androecium is present and the edible part is juicy succulent
placental hairs of endocarp. Identify the types of fruits in A, B and C respectively.

(1) Sorosis, compound fruit, hesperidium -

(2) Compound fruit, syconus, berry

(3) False fruit, aggregate of berries, hesperidium

(4) Aggregate fruit, berry, pepo

Sarde BoEod (A, B, O 508003 %0 =8A0d. ‘A Do InHH ol £OA
¢00008.. NS Ph) ITgdo vwFo Hdaw IHHNE, FVFOS PR JY T
83 wrdom odrom. ‘B’ B8 Héoowrdd Boddiod. &SP 8F o
852508 HOBlEes. ‘'S vty wodE THEHD sowod. 8F o wod:
HoES VoS HBNE, HF0S wodIgd Saws. A, B H0dn C BnE)ostd
Horw Jstod SSHdme (‘bbo‘.‘ﬁo&

(1) 6D, BoBrHHo, maaé&oﬁoSo

(2) boB/riHoo, NEIV, Hydpeoo

(3) ed)BHoo, H)SHorLE Erdd Vo¥dEHo, V)0 EHS

(4) P0¥0EHwo, HYSHpoo, DI '

Rough Work
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Identify the plant which is not having unilocular ovary

(1) Cucumber (2) Cashew (3) China rose (4) Chilli
Q¥Do ©0a 30ird) 00 wodd By S dodood. |
(1) $Hows 2) 2a%r0d (3) %oowd 4) 8D

29.

Identify the wrong statement

(1) Plants produced vegetatively or asexually are called clones.

(2) Organisms exhibiting external fertilization release a large number of gametes.

(3) Development of embryo from fertilized female gamete is called parthenogenesis.

(4) Conidia are formed in Alternaria.

V05" Frgwgdo 280508 |

(1) ©Bon v58 Too T8addom )T B o §8e wourd

2) w‘é*g‘;)cés'dea S0 2Hew SoTBrNderodd ESYRY ‘éo:pgcss B Te ST 1) 'i?é)_:ow

(3) H0bE8n BVodS ?33 0@ Deo S0 Dodo Ddaéw‘&'}l wdaf=ddo
oS '

4 Heg_c;lﬁd’).)‘d‘ £A805%0en 28 ybaron

30.

The character associated with the plant in which pollination is by Tageticula
(1) Marginal placentation | (2) Pentamerous flowers
(3) Trilocular ovary (4) Perigynous flowers

bl $9 HorboBE) o 20T BnEH Howoodd ©Emo

(1) erod wodargdo (2) Do PrHSnd Parye
(3) (BDodsnd womrFddoo 4 ‘63650(556%’ QYoo
Rough Work
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In plant ‘A’ the seeds will not germinate until they have been exposed to low temperatures
in moist conditions in the presence of oxygen. ‘B’ plant flower has basal placentation and
head inflorescence. In ‘C’ plant, flower has cup shaped thalamus and the reproductive

organs in it are enclosed by two petals present on the anterior side of the flower. Identify
the following characters found in A, B and C respectively .
(I) Slightly curved embryo sac

(I) Micropyle, chalaza and funiculus are on the same vertical line

(IT) 180° curvature of the body of the ovule.

‘A BoE St dETren w8z z:ésgoes‘ S0 DOYHod® S S s S
2 SB5Thg HE%H ©0$H00ITYH. ‘B’ Bo¥) DAYoS’ DE wodargI) S0k
858 DH PRI gD DA sowoobd. ‘C By DAY AT Hod PR HITFI0
G008 H00sn Par)Ns Qorgodos® 0T Tod wi¥dm dErw (DSgdNd

. womod ¥y sodizron. A, B $00050 CsS* Ed2oT & (808 oFmrod

HEdm Kodovod :

(1) ods*do 50 HoPH 8dA Gotwod _ _
() wodwrgdo, Swrer, woddHyoso &8 deud) T ©Hd sotron
(1)) 180° §*mo0d® HoY 8OAS wodBIro

(1) (D, dm, @ @ @ @, a @ an, o, a @ o, d, Jn

32.

In a flower of a plant, the mﬁnber of carpels is equal to the number of inner whorl of
perianth lobes and cotyledons in the seed of that plant is 1/3 of carpel number. What is the.
arrangement of ovules on placenta of the flower of that plant ?

(1) Axile (2) Marginal (3) Basal (4) Parietal

a8 D) To¥) DAY Dodvro Dowg S*HO S00%08° BOD|EY 633&5
Dopg¥ DH;Ho HI8 05 DE308° Dadven, dodvro ‘bospgé‘ 113 aamyo®. ©
BwEy DAY woarw wodTgdFIod” D ©308S® @woeron?

(1) @8o%o (2) &Jrodo (3) 8 (4) g

Rough Werk
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33. Identify the series in ascending order with respect to the number of cohorts prcsent in them.
(1) Inferae, calyciflorae, bicarpellatae, thalamiflorae
(2) Heteromerae, disciflorae, calyciflorae, thalamiflorae
(3) Calyciﬂorae, thalamiflorae, bicarpellatae, inferae
(4) Heteromerae, bicarpellatae, inferae, calyciflorae

40T DHrdte Qogrgddom & (Fewody w6ieE (ES008® Ho80S0d
(1) 38T, 52023, BSTHTE, ST '

(2) 88T, 32T, sOVYT, S DT

() sOXYT, VYT, B BT, aSDI

(4) 88°WT, Bs°TYTB, aSHT, 5" OB

34. Study the following lists

List-I List-IT
(A) Golgi apparatus (I) Circular DNA molecule
(B) Mitochondrion (II) Synthesis of carbohydrates
(C) Chromatophores : (IIT) Modification of proteins
(D) Cytoskeleton : (IV) Pigments

(V) Proteinaceous structures
& (800 erdero wSgahdo Tobhod

AL | rRer-11
(A) m® HoESo ' (D Syss*8 DNA e
*(B) ®&*sto@0%S D) 58y @Bo BoFhm
(C) (B8 dEen ; () (@SS Srdrosdo
(D) S oPBoudin (V) $¢ (Sargen

(V) [@ESosns Doy een

The correct match is
20 DOTHS =*doH

A @B © (D
(1)) . aV)- (V) (@)
2 danp @O avy
G) v ay av amy
4 A ) avy @

Rough Work
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35. Identify the correct pair of statements
() The alternate name of thymine is 35- methyl uracil.

(I) Arachidonic acid molecule contains less number of carbons than palmitic acid.
(II1) Cellulose contains complex helices.

(IV) Aquaporin is a polypeptide.

DOTHS argwge =S o800

4)) éo:’u&bSﬁ: S80S 5- &1:65 SnorDS :

) ©orHEIE v P FWGE vHho ol S EHTrod SON Gotwod
() oengs®™S o g vBjorodn E0A sowod

(V) us7g 05 2.8 3"@)" "535

(1) (I, 1) (2) @, I @) (1, IV) @ (1, 1V)

36. Study the following lists

List-I List-1I
(A) Anaphase-I (I) Splitting of the centromere
(B) Anaphase-II (II) Recombinase
(C) Pachytene (IIT) Sister chromatids associated at their centromere
(D) Diakinesis (IV) Chromosomes aligned on the equatorial plate

" (V) Nucleolus disappears
& (800 dorod wFgando Sodod

rdee-1 doc-11
(A) Sod8%-1 D) o|&*Wodb JFudo Woddo
(B) Sod5&%-11 (1) 85°0DIS
(C) >SS (L) o(S*Dwchbe $& JFEY S*drSsen 8D Gotron

(D) $A5rEIDD Iv) Ls‘aré‘:mu: éac{)g‘g HOOE HE wdd woron
(V) Bo|8s°04dn wodgrddhipdood
The correct match is
ad HeTS FdoW
A ® © @O
@.an @O @@ . )
@ 4 () ) - dV)
3 am @ v av)
4 O dJdn av) a

Rough Work
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37. How many chromosomes are present in each of the following with respect to maize plant
respectively ?

(a) leaf epidermal cell (b) antipodal cell
(c) endosperm cell (d) generative cell
(e) egg cell (f) megaspore

(g) Microspore mother cell
B %) DK H Dowohow, S0P, & BHBINYE TAS* ), E* Bt dnen

& Oeo0 ? _

(@ HEurirgSsy Swdn (b (pBFES Eodw®

(©) woHEWNE SoSH d) seyS8E Edw

(e) %‘33 D Leadw H }’8310 "bg Hadw

(g) gy ©8 D Sr8)¥ Ewo _

(1) 10, 20, 10, 10, 10, 20, 30 (@) 20, 10, 30, 10, 10, 10, 20
() 20, 10, 10, 10, 20, 30, 10 @) 30, 10, 20, 10, 20, 10, 10

38. Which of the characters are found in cells producing primary tissues ?
(I) Rich in protoplasm, conspicuous nucleus.
(II) Thick cell wall, few plasmodesmatal connections.
(1I1) Thin cell wall, many plasmodesmatal connections.
(IV) Lignin in cell wall, inconspicuous nucleus.

(P EDE Enwrorod a838 IH oros® 2 o‘g{wm EQPI00?
() Esdogo wh¥o, o0 )R DD So|8¥o .

(II) H208 30 EngdSo, S50 §eaLcSa’ngaaoc_$ CoYeYafaad SN

(1) $008Q Eegdso, Eoo|SDdgRoE vogaren wdEo
(IV) A S8 &rdd EmEddo, b )R DD So|B¥o.

(1 @, 1 2) @4, 1V) 3) (1 1D 4) (I, IV)

Rough Work
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Identify the correct pair of statements from the following

(I) Primary phloem is commercially important in flax.

(I) The food materials in water conducting tissue are stored in thin walled cells.

(I1l) The water movement in vessels is bidirectional. ;

(IV) Mature cells where hydrostatic pressure increases during sugar transport show the
presence of peripheral cytoplasm and absence of nucleus.

& (808 T8S' HOTS Frgpge wdH #200508

(D) 5)S°® (gNE F*aE Lwereo Frughdom &dTWrHo

() 58D bv8Hor Jd» Emerood®, EnHarger DoodM™ &) Leroo 588
dorgrody Jog BIron

() A8 Sodo ocdhrered 8387 HS0

(IV) 50683 oros® ) B8 IS S 2SS v pd modES D8
283808:08°, ES® H0H% Ee$Hgo wod, ToB%0 Godd.

The correct pair is

20 DOTPS w Rl

(1) (I, 1) @) @, I () (I, IV) @) (L IV)

40.

Study the following lists
List-1 List-11
(A) Cultural services (I) Nutrient cycle.
(B) Provisioning services (II) Afforestation
(C) Supporting services (1) Flood protection by mangroves
(D) Regulating services (IV) Petrocrops

(V) Recreation
& 808 Derod eggohdo Bood

Dae-1 >Daze-11
(A) H0%) 38 Howod 2w 0 2z odereo Hoosren
(B) d&HHe &rd e (1D wbe H8%o :
(€) wgrs Grdgé e () roirbe oeor H880 LoD SEn EdR0SE0
(D) doho@erdy ¥ DH AV) DS o o
(V) s6dHD)

The correct match is
28 HB8THS oD

@a @® © O
(h avy dap @an @
2 v a @O d
B @b g (M)
@ vy am @O av

Rough Work
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[\

ZOOLOGY ,

Choose the correct statements with reference to reproduction in Paramecium

(A) The micronucleus divides by mitosis and the macronucleus by amitosis.

(B) The micronucleus is polyploid and the macronucleus is diploid.

(C) After karyokinesié the parent cell divides into two daughter cells, anterior proter and
posterior opisthe.

(D) It undergoes transverse binary fission during favourable conditions.

DENDN MBS (8038188 H02080905 HB®owS TEPOSy %28 0SB0

(A) &Pg&‘s‘ogﬁﬁéw SRR ago° %20 dsw Jro So8%o DB oo
DTS BVodkodo

B) 3rgBo8so winopdetsr s00m grodoso S3anasts:
&0 B2 _

(C) s°0/Wr3INS  Soares $DEwo J¥ad Todvo Hod (F*&S  ({rocgod
20 $008) H550050 DD (D00 o Ho08) wdo 2o EHoo I ydosron

(D) & 20 edvsro DOR S YD ko odo d3oe QDB =5HYPELodo

(I) (A), (B) and (D) (2) (B), (C) and (D)
() (A), (C) and (D) (4) (A), (B) and (C)
42. In ADA gene therapy, identify the vector used to introduce the functional ADA ¢cDNA into
lymphocytes
(1) pBR 322 (2) Retrovirus (3) alpha-lactalbumin (4) a-1 antitrypsin

ADA 23855 D88yS® D ST SA) GHT/rA0D (B¥rE, 8 ADA TBog) ¢DNA o
Dorfddo &8 dFfded
(1) pBR322 (2) g&*'38%5 (3) BOTY-or P NS (4) a-l ABroBE)S

43.

In which syndrome the somatic cells of males have Barr bodies in their nuclei ?

(1) Down’s (2) Turner’s (3) Edward’s (4) Kline felter’s

& (800 2 JoIB°SHHS® HoudHo BirLoro Bodsren o8 BHods £0A
G o&roX. -

) &3 (2) &6, 3) @by 4) 39988y

Rough Work

AM 2015 D 19 S



44. Match the following
List-I
(A) Ostracodermi
(B) Coelocanth
(C) Cyclostomes

(D) Ostelchthycs

& (500 TR 22$DSSod®.

$E¥-1

(A) ©%98°@0)

(B) dosrod

©) BF e

(D) P ES

The correct match is

28 DOTHS F*doN
Aa) @B ©

(1 am @O @)

2 (@ dan @

3  dmn a

(4 (I dan av

(D)
(In
av

@)

@

List-11
(I) Lobe-finned fishes
(II) Exocoetus

(111) Extinct jawless fishes

(IV) Hagfish

SEE-TI
(D) ©o0d¥ o Tdw
() D8°YobS
() Deod Sddoo BI Jdew

V) 555 b

Rough Work

AM2015D
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45. Identify the correct combinations

List-1 List-11 List-III
(A) Genetic load The existence of deleierious genes Sickle-cell anaemia.
within the populations
(B) Founder effect A small group of individuals from a Beaks of Darwin’s

population that start new colony in an finches.
~ isolated region _
(C) Centripetal selection It operates when homogenous environment Weight of new-born

changes into heterogenous type babies. in London.

(D) Directional selection It works by removing the individuals Average value of
constantly from one end and shifting length of Giraffe
fitness towards the other end of - neck.
phenotypic distribution

(1) (A) and (C) (2) (A) and (D)

(3) (B), (C) and (D) (4) (A), (C) and (D)

S (808 TIS* O TS OB FSBned Booddwn

SEL-I SGE-II SEE-III

(A) =30g 8o 2P FEIEE Do =SogRH oo D85 S

G0 B B0 @ Qo

(B) ToE 2Ho (drdo V) 2P Jdordrdn Sare zarer @8ss PoSo
$208 Bon £¢ VTIFTI) 255 sy 0
(Bro80&® (FEohrow

(C) @dTo8 $8wo VBB A% TESEsn Dh D aoqro ot
805 TS Smdom 553‘6263’33353 a&)&oi)é ddeees
20 Seorodod PO 8%

(D) 83 c5nd SEmo 8)3g8rD DRSS 0¥ wosgost 2odheost

: EPHoo (EHoomr SFoRoSad FEDEH) Déw
2088 wodgos® (Edoom $Emo Dend
: sPdo W ad &ron
(1) (A) $80520 (C) (2) (A) S2005» (D)
(3) (B), (C) $206050 (D) 4) (A), (C) 00052 (D)
Rough Work
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46. In a normal ECG, the component that signifies the duration of one Cardiac Cycle is
(1) Q-T interval (2) P-R interval  (3) S-T segment (4) R-R interval
& Zcrdn ECGS® 28 ‘898 Hook’ sorddd B98TH0b
(1) Q-T woddo (2) P-R woddo (3) S-T podo (4 R-R eoddo

47. Identify the wrong statement with reference to the characteristics of embryonic stem cells
(1) They are pleuripotent :
(2) They are isolated from epiblast tissue of blastocyst
(3) They can not proliferate in a culture medium
(4) They can give rise to the three primary germ layers
Boddre Eoro ofmrodH Howodod VIS TG0 20 0 od2
(D) 30 T .'\‘J‘a’aagfgo 07 Godrom
(2) DIV PFNY BwEy, VY'Y Ewwroo 008 B By
(3) ad 20D SrEghood® dFad Vol
4) =3 Sords (E0E Dagood 8 S B eoKoemon

48. Identify the wrong statement with reference to the functions of lymphatic system
(1) Transports digested fats to the blood vascular system
(2) Lymph returns the absorbed nutrients to the blood
(3) It transports lymphocytes from lymph glands to the blood
(4) Tt has no role in destroying the invading microorganisms
FRED égéig D&ooE HowoSoNS DO ITgPFND %20 05252
() 2EBd FPY dorgrod 6F (dd5w HHVEH BED B0
(2) FHEHd0 FRoDS Fhascod 80A- SE0s* D8 Joydo
3) FHEb Hodo $08 FTAIH Swrods §Eos'AE FIrw T oD
4) *08 Tl Wrf 12 $Ep(8050s° dtHol @l $OA &od s

49. Identify the set of secondary lymphoid organs from the following
(1) Bone marrow and lymph nodes (2) Spleen and Bone marrow
(3) Bone marrow and Thymus gland (4) Spleen and'lymph nodes
o0& ade* Bgdas DoFrons eHcoaro 2850 Ho80Bod,
(D) oy Sz O FTHES mPeo (2) Liordn Ho00n o Dy
(3) oY Hog SO BB (H0d 4 HEd» $0%B0 FTHED oY

Rough Work
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50. Choose the wrong statement with reference to smooth muscles
(1) Myofibrils show alternate dark and light bands
(2) They are spindle shaped uninucleate cells .
(3) Their contractions are under the control of autonomous nervous system
4) They exhibit prolonged contractions
5050 Kodoo®H HowodoDS HOSD TIPLIY BRI® :
(D Jrg Sodd SodhHoo dstodomr Jaryod $0d5w 08 Dol (D880
(2) ®2 ¥0B ©5°¥os® %oB ¥ Tob¥ Kwren
(3) A8 HoEWI» Voot m&ésaﬁ}g wBB0S* Gobwod
4 ©d &gsto BoSmeds WrHeron

51. Match the following with reference to endocrine disorders

List-I List-1I -
(A) Addison’s disease (I) Hypothyroidism in adult
(B) Cushing’s disease (I) Hypersecretion of somatotropin in adult
(C) Cretinism. (III) Hyposecretion of glucocorticoids
(D) Myxedema (IV) Hypothyroidism during pregnancy
(E) Acromegaly (V) Over production of glucocorticoids
Srds H86°) Soo BIVHOLH Vowohod & 1808 TV 2SDIBoH0
SEE-1 S¢E-11
(A) ©33S) 5o ) ([Frdos® IForoandai
(B) HU0AY 2o& ) Prdos® PEres® (DS AL )
(©) (38=0 : (111) rrj:'g‘s"gs‘owé csé‘géo)g
(D) 8y&%r | (V) fi8yo dyd 39¢° E1%0T T Forowdale
(E) o omd (V) §r&sdsrondo ©05°$3d

The correct match is

30 JODd FdoY

(1) A-II, B-V, C-IV, D-I, E-II
) A-V, B-IV, C-III, D-II, E-I
(3) A-II, B-IIL, C-IV, D-1, E-V
(4) A-II, B-IV, C-V, D-I, E-II

Rough Work

AM2015D 23 S



52. Which one of the following is the correct s

lumbricoides ?

/D

(1) Monogenetic, dimorphic, pseudocoelomate and coelozoic parasite
(2) Monogenetic, dimorphic, coelomate and histozoic parasite

(3) Digenetic, dimorphic, pseudocoelomate and histozoic parasite

(4) Digenetic, dimorphic, coclonate and histozoic parasite

B0 TS* I 00 ©0(D570NdIL 0208095 HOTHS T BLIRYIV

() ds°8Fow, BYETHE, Wergids HTS, s Hoed)Ed

tatement with reference to Ascaris

(2) ds*8Fow, BYITDE, D488 HEE Ho80kw EmEre DoCS 2D

(3) BywdPon, BIETHE, WEgIbs LY, fmwro HOHRD

4) &Swaf;a'cm, BT D, V488 HEE H00050 Emero DS ED

53. Choose the correct combinations

List-I
Class .
(A) Turbellaria

(B) Trematoda

(C) Cestoda
(D) Phasmidia

List-I1

Character

Mostly free living flat worms with mucus
forming rhabdites in body wall _
Commonly called flukes which bear two
suckers

Ecto and endoparasites Body unsegmented
Amphids performing chemo receptor
function

& (808 DOwOND ‘éﬁoa#a‘oéa %50 0o d»

H8E-1
Qo
(A) ©S)BOST

(B) B a
(C) Do

(D) 857
(1) (B) and (C)
(3) (A), (C) and (D)

S
om0
'fos:::“)eéé)m. BorSdgos’ B )
D80 orgond ©3 07T I0WToN
HBD yerdmorr RSy woird.
538 Bodo Wrhstor0tron
ad wrdrg $o0d» 0088 Do) RN,
Boros® podyddsn S&
woDEew EF00E (TISTOT HABIow
(2) (A) and (B)
(4) (A), (B) and (D)

List-111
Example
Convoluta

Bilharzia

Echinococcus
Trichuris

S

G i
5‘639:"5&1

ag_ﬂ'gds:*

Rough Work

AM 2015D
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54.
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Identify the correct passage of spermatozoa in male human reproductive system
(A) Vas deferens (B) Epididymis = (C) Urethra (D) Vasa efferentia
(E) Ejaculatory duct (F) Seminiferous tubules

SIS DD (HSHgEND HgEHL BowododS HEEwTO HOTHS (HASrH Sraedy
%98 0o

(A) HEsTE . (B) IEBXD  (C) (HHES® (D) %>
(B) dp08 o¢sn  (F) HS e8¢ 08

(1) B> D>S>F-5>C-H>A-SE

2) BSDES>C—SF—>3A-5D
B3 F>D->B->A—>E-SC
4 F5B>A->D-SE=C

5S.

Match the following with reference to geological time-scale

List-I List-II
(A) Origin of trilobites (I) Silurian
(B) Origin of ostracoderms (II) Carboniferous
(C) Origin of fishes (Ill) Cambrian
(D) Origin of amphibians . (IV) Ordovician
(E) Origin of cotylosaurs (V) Devonian
T HostodrS (Ds~Ed0 & (B0 I esHBodw

HSE-1 SEE-TI
(A) Qjef’gg e&’)c‘géo (D ordohs
(B) w$98°s6)0 SRISALTS (D) °8°3085
(C) IJdo sdomyHo (II) SoDaHS
(D) &&a% Sore sdoryo (IV) ©8°220%5S
(E) s85*>6eo BJo°)Ho (V) &8°00%S

The correct match is

20 JDOTHS &0

(1) A-II, B-V, C-I, D-1V, E-ll
(2) A-II, B-V, C-I, D-1V, E-III
(3) A-II, B-1V, C-II, D-V, E-I
(4) A-II, B-IV, C-I, D-V, E-II

Rough Work

AM 2015 D . 25 S
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56. The cells lining the base of the intestinal glands that secrete lysozyme are

(1) Brunner’s glands
(3) Neck cells

(2) Parietal cells
(4) Paneth cells

wod (0¢o0 wadod® &od B Doy (D% Eeren O ?

(1) @35 (Hodoew
(3) AS Eerew

(2) 50535‘991’03
(4) S8 Eerew

57. The unit formed by a longitudinal row of kinetosomes together with the corresponding

kinetodesmata is

(1) Myoneme (2) Motorium (3) Dynein (4) Kinety

a€ wohd HEBS &3) 3T S Down 78 338°BIeren KO 28 (Drwont
DS dodo08. BV yo” @808

(1) H0TS0 ) Srstoch  (3) BIS 4) 338
58. Match the following
List-I List-II

(A) Obligatory anaerobe

(B) Facultative anaerobe

(C) Polyembryony

(D) Reservoir host

(E) Biological vector

(Bod &7 =& e 80 )d»
S8E-1

(A) ©J8oE vz diw £

(B) 3%9)8 warcsn £

(C) >OoBTIrR

(D) ©%5058GF 00

(E) 25580

The correct match is

28 HOTHS FdoR)

a ® © O @
O~ @ O dn 4V
2y) - @ 0 (V)
@Gavy a -0 A V)
@ av) am @o @

(I) Fasciola hepatica

(IT) Antelope

(IIT) Ascaris lumbricoides
(IV) Female culex mosquito
(V) Entamoeba histolytica

SSE-1T

() >FDToror TrrEse
() Jo08S*D

(IlI) &30 00 (DS*0NES
(IV) e85 T8y &

(V) Qobaver Y B8s

Rough Work

AM 2015 D
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59. Statement (S) : Marine lampreys migrate to rivers for spawning.
Reason (R) : Marine lampreys return to sea water after spawning.
(1) Both (S) and (R) are correct but (R) is not the correct explanation to (S)
(2) Both (8) and (R) are correct and (R) is the correct explanatlon to (S)
(3) (8S) is wrong but (R) is correct
(4) (S) is correct but (R) is wrong
argwg (S) P JID(E ero(Den HHe k> a8 (Dardo BIrow
sdwo (R)  :  Ddw& wro(ben Mg PES SKHard BOA JDdw(Ery Bberow
(1) (S) %008 (R) Tods HOTHD S (S) & (R) HOTHS D8 5o
(2) (8) 80w (R) Todd BOTHHD H00kw (S) & (R) HOTHS DS8eo
() (B) D836 578 570 (R) VOIS
@) (5) 0TI, 51 (R) HOTHIS 5065

60. Which one of the following diseases is not treated by Inactivated Whole Agent Vaccines ?
(1) Hepatitis-A (2) Bubonic Plague (3) Cholera (4) Typhoid
8od &38° D 3B Dgéa S QRg9dsr Dowrd (88 F8ySes
GDOIA0WEE?

(1) JHBES-A (2) wgs*dE B (3) Soor 4) Bdrons

61. Severe combined immunodeficiency in man is caused by
(1) Deletion of gene encoding for ATPase
(2) Point mutation in gené encoding for Adenosine deaminase
(3) Point mutation in gene encoding for ATPase
(4) Deletion of gene encoding for Adenosine deaminase
BPSHIST (S VYW 0 g0 J6°EE *Hho BAsed éwﬁaéoo&?
(1) ATPIES %0880 adogdy dosgho
(2) QBSVS BIWIES HDoE80F 2I0gHS® Dodo 6635&’35&’3
(3) ATPRES: %0880 aéos&'@é‘ Dodo &0
4) JBSFDS IWIES %oT80I udogd) Hoergho

Rough Work

AM2015D . e
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Choose the correct statements with reference to Mutation Theory
(A) Mutations occur from time to time in naturally breeding populations

(B) Mutations are continuous and accumulated over generations

(C) Mutations are fulfledged and there are no intermediate forms

(D) Mutations are not subjected to natural selection !

(1) (B) and (C) (2) (A)and (B) (3) (C)and (D) (4) (A) and (C)

CEREEIR ?ocg*oe"é'\)g H02050DS VOTHS FgWIOD ¢$98 0 w55

(A) dorzmomr (Duddo 20D 2oerd’d 2Hos® sordifomomr &EN0IEIT™
DoYIJon

(B) &éa@&’)_daa"oo @Di)})éo H08050 awD SESorm HonSdoRseon

(C) a80587 e HORrY oD Ho0Adw SrGgE d¥o0dR

(D) &8 )088en (HE)BHEerIE HO5™)

(1) (B) $2005» (C) (2) (A) 850 (B) (3) (O %0005 (D) (4) (A) $8050 (C)

63. Which of the following disorders is not caused by Pleiotropic alleles ?
(1) Sickle-cell anaemia : (2) Cystic fibrosis
(3) Phenyl ketonuria (4) Erythroblastosis foetalis
& (Bod TIS' O gd I LAy dEoyTTo Sod oo
(1) §E50 - Enndgosd (2) 28 IS
(3) IS 8L Xrgdosr 4) 88 PNS Herdd
64. In birth control methods, which one of the following is an Intra Uterine Device ?

(1) LNG-20 (2) Saheli (3) Vaginal ring  (4) DMPA

& (Bos5 aBgpds =ds dMoEn DYt D6 AoyIcross FEND
®onRYI8? :

(1) LNG - 20 (2) 9w d (3) T Seocko (4) DMPA

Rough Work

AM 2015D 28 S
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65. Statement (S) : In brain stem, the pons is called as pneumotaxic centre with an ability

to moderate the functions of the “respiratory rhythm centre”.
Reason (R) : Neural signals from this centre can reduce the duration of expiration,

thereby alter the réspiratory rate.
Correct answer is

- (I) Both (S) and (R) are correct but (R) is not the correct explanation to (S)

(2) Both (S) and (R) are correct and (R) is the correct explanation to (S)

(3) (S) is wrong but (R) is correct

(4) (8) is correct but (R) is wrong

agg (S) P DEd sodBNS' TS 3738y ToEBooerd. ad
a5 bast Tgoodhad G0 DI00TKHS08.

80 (R) : & STodHhad Hvodeoren ¢T3 050D Q0D FgHTendd
Srd o).

a0 DOTHS HIFGS B

(1) (S) %008 (R) Todo HOTHID 53 (5)  (R) HOTHS IHe 565 _

(2) (S) 300c8n (R) Bods HOTHHD H00as» (S) & (R) HOTHS D56

(3) () HOTHHB 5%, 5 (R) HOTLHE

(4) (S) 50TWIB, 5 (R) HOTHHB 56

66.

What is the correct séquence of Man, taxonomically starting from superfamily to sub-
family ?

(1) Hominoidea, Hominidae, Homininae (2) Homininae, Hominoidea, Hominidae
3) Hohiinidae, Homininae, Hominoidea ~ (4) Hominoidea, Homininae, Hominidae
SrIPNE 98800s° whHtwono H08 D08 Ko HED D)
%50 0odw

() *vsronddsr, 2028, 9103
(2) ST, ¥ NTronddsr, 103
(3) SFXIB, FTHEWITF, P Drond o
4) 58 Drond s, TFNIZ, 513

Rough Work

AM 2015 D T aes
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67. Match the following with reference to eye of insect
List-1 List-II
(A) Appoposition image (I) Secrete crystalline cone
(B) Dioptrical region (II) Refractive region of an ommatidium
(C) Retinulae - (I1I) Region having cornea and crystalline cone
(D) Vitrellae ' (IV) Houseflies
(E) Cornea (V) Photoreceptor cells
8680 K08 Ho20BoDS & (300 A wd Lrdo )
SgE-1 : Sg5-11
(A) > 2BS (H8Dowo {)) ‘égéﬁé $0HHI (DA0WOW
(B) sr08%ob¥dm (rodo D) SerodD HEFDHS (@Froddw
(C) I ¥dbo e () HED&OZD SIS RERACE $0%%) So |roddn
(D) 8T (IV) &stfen
(E) HEdbeoo (V) 5708 (m&rE Seren
The correct match is
ad HOTHS F'doY
(1) A-V, B-1v, C-I11, D-1, E-lI
(2) A-1V, B-III, C-V, D-I, E-I
(3) A-II, B-11, C-IV, D-V, E-I
(4) A-1V, B-V, C-lI, D-IL, E-I
68. The contractile regulatory proteins that mask and unmask active sites in the sarcomere are
(1) Troponin and Tropomyosin (2) 'Troponin' and Myosin
(3) Actin and Myosin (4) Troponin-I and Troponin-C
35 200556%0 D dovo(gw (Fdg BEIg FTod wmy@ 0005% T TS0
Joswed® S oerown |
(1) (S°2DS 8o (S FHTIEDS - (2) (SPFDE Ho0ABN HITIERS
(3) D88 H20cBR HITTDS 4) | S*FDE-1 $0050 (E'FVS-C
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A

Statement (S) : Cockroach is “paurometabolous” with reference to its development

Reason (R) : In the development of cockroach, there is no nymphal stage.
Correct answer is :

(1) Both (S) and (R) are correct but (R) is not the correct explanation to (S)
(2) Both (S) and (R) are correct and (R) is the correct explanation to (S)
(3) (S) is wrong but (R) is correct

(4) (S) is correct but (R) is wrong

geg (S) : §°Qo¥ 53&3050"31 ‘FoBerStod’ wodrd.

gm0 (R) : aS"’ﬁos' &95)&’:3636‘ ‘osdJ‘.o TESD DS,

20 DOTDI oércyéém :

(1 (S 553006:0 (R) Todh D003 572 (S) ¥ (R) coﬁaoé DD 570

(2) (S) H0065x» (R) Bodkd o@@o&’)&) 526050 (S) §a (R) 200035 58w
(3) (8) S0THIHH 5°¢, 5% (R) DODDI6

(4) (S) PB8TDIB, 572 (R) DOTDIS 5°¢5

70.

Alleles for a gene I are I, IB and I°. If I* and IP are dominant over I°, then I* = 1B > I°
is indicative of :
(1) Co-dominance (2) Recessive

(3) Wiener hypothesis (4) Dominance

I oF 2o 14 1B S00ck0 I° ©F ooy doyoo dowrom. 4 $:005w I
©303 I° ga-l v deron wond M =1P>1 TID “rd%es

() ST gSS (2) vodgSdw
(3) 286 Dgrods» - 4) D FSBD
71. Choose the wrong match with reference to joints
(1) Gomphoses — Intercarpal joint
(2) Syndesmoses — Membrane between Tibia and Fibula
(3) Symphysis — Joints between vertebrae of mammals
(4) Synchondrosis — Epiphyseal plate
& (808 TS §¥ % BowoGoDS VOSD TAD Boodw
(1) RPodiTer — wodd B8 wodsceo &
(2) 20b¥ T — wodd H0d» oo Hgg So I B0
3) bogrdo — Ldoro RS0 2688 0T fen
4) VIO E PR — IV PVHS Do¥dw
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Abingdon tortoises in Galapagos Islands became extinct after goats with great browsing
efficiency were introduced. It is an example for

(1) Competitive release (2) Co-existence

(3) Interference competition . (4) Competitive exclusion

morER 8333'06‘ Do Do L‘o’aﬁ-‘é“bgéo 03 Dohds a‘?.?#o@ woddoTron.
28 &8 sororde

(1) PESS8g ddo&o (2) Do LH5%0
3) 538880 ¢ 4) PSS DIFFonOR)

73

Choose the correct statements with reference to “Demospongiae”

(A) They are exclusively marine forms.

(B) They are colonial forms.

(C) Skeleton consists of siliceous spicules and spongin fibres.

(D) They are solitary and simple forms.

‘BBrIoRAT EH How0RoDI HOTS TgPGOd BLIYIY

(A) a0 Grom JHRE BRHoo

(B) 8d “&TAFF P

© e?g‘c’aoadbaoé‘ SO €obsres $o005n FYosS Ffoew wodrow
(D) 30 HEY DS JIsT0d BHPHW

(1) (B) and (D) 2) B)and (C) (3) (A)and D) (4 (A)and ©

74.

Statement (S) : Marine fishes have aglomerular kidneys.

Reason (R) : Aglomerular kidneys increase the loss of water through urine.

Correct choice is

(1) Both (S) and (R) are correct but (R) is not the correct explanation to (S)

(2) Both (S) and (R) are correct and (R) is the correct explanation to (S)

(3) (S) is wrong but (R) is correct :

(4) (S) is correct but (R) is wrong

F°§PS S) : Ddo8 BHoosods 65@%3}'@5‘ r‘bzﬁgdiré Lo (S DOB 00 LTTON.

5o (R) : SEEH s S 8T Sar$Doares Hur@o T°go DHgoswT
DB 3 TR)Tow.

20 DOTPI HRITEESd0 7

(1) (S) 6as» (R) Body HOOPI 59 (5)% (R) H00Hd 28 580

(2) (S) %0050 (R) Body HOTID %0050 ()% (R) $0T0S DS G e

(3) (S) DOTDHI8 5%, 579 (R) HOTHIS :

(4) (S) BOTHIB, 570 (R) 500038 SplaS)
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- 75. Vitamins required for maturation of R.B.C. are
(1) Vitamin B¢ — Folic Acid " (2) Vitamin B,, — Ascorbic Acid
(3) Vitamin B, — Pantothenic Acid (4) Vitamin B,, — Folic Acid
JE IE Ewro (R.B.C) ‘éﬁ‘égséﬁ (ERCT AT € DhNSo wa)
() JOMWS B, — 90§ wdo0 (2) JLWDS B, — 88 5 wdoo
(3) LS B, — &o&*BIF w0 ) oS B,, — &0§ ess0
76. In which one of the following animals, parasitic castration is observed ?
(1) Carcinus maenas (2) African antelope
(3) Anopheles . (4) Culex
S (500 =ohHoo® BIosod DOIES 5 HIRS IS AHD I Sw
(1) 57035 Wa>d (2) &5 0BS*H
3) 37O 4) érgBSa
77. With reference to cockroach, match the following
List-I List-I1
(A) Ocellar spot (I) Genae
(B) Epicranial plates - (I) Mandibles
(C) Cheek sclerites (IIT) Fenestra
(D) Second maxillae (IV) Vertex
(E) Adductor and abductor muscles (V) Labium
Q08N JowodoND & Bod I =& &%) dw.
S8¥-I HEE-TI
(A) I8 Dok O ZEz
(B) wdsare Hoscen (II) SeSoHen
(C) S58%) Bew : () Hondo
(D) Bo&® 28 =oD¥en (IV) 3&%a
(E) 0d580 200050 0S8 Lodoren (V) e880
The correct match is
28 DOTHS =&oYH
(1) A-II, B-V, C-I, D-1V, E-II
(2) A-II, B-IV, C-III, D-V, E-I
(3) A-II, B-V, C-I, D-1V, E-III
(4) A-II, B-1V, C-1, D-V, E-II
Rough Work
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78. Identify the one which is not a disorder of circulatory system
(1) Coronary artery disease - . (2) Angina pectoris

3) Emphysetﬁa (4) Myocardial infarction
8od TS® D& 8E (POEm HHHH Todd ©DRE?

(1) §6°356 §HoQ 3788 : (2) woda DEOD
(3) doHDdr (4) HoWrs* @S adPEES

79. Edaphic factors are related to
(1) Humidity (2) Soil texture (3) Rainfall (4) Wind velocity
Qa5 se¥sren B8 HowoHoNID
() 8% (2) 8 wEy® 3) Sdardo (4) °os» BHo

80. A fish, Nile perch introduced into lake victoria in East Africa led to the extinction of
Cichilid fishes in the lake. This is an example for
(1) Fragmentation (2) Over Exploitation
3) Coextinctions‘ (4) Invasion of Alien species
‘BS WE) ©F JdI Srdoy TR T 580 )5*8 (9B Yo S0

8 DEDNSND DES FHer woddoTron. 30 TIE sordrde

(1) Sn&Hoddo (@A B00BAR) (2) 3380 8IIJ/rifo
3) DI Vs 4 ‘g"b?éd rdio e
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81. Two perfect black bodies A, and A, made out of same material have diameters 2 ¢cm and

16 cm respectively. wmax and ?J‘max are the wavelengths corresponding to their maximum
radiation of energy at a common temperature. k‘max and k"max are related as

T 58 SHeo AL A, o oF Do dns® Tohwd, sgdswes H&Hd
2 0., 16 0.5 £0A QIYoN. ©) &T P ASS® &SRB A HIB05®
N ipax @ T8 %008 S0sT K607 6Q 88w fHo SKol BP o Buwoparow.

©D Pk Almax D08 adxn ‘,k"maxt) 53455 HowodSw
X

(1) A0 e = I @ Moy =My

(3) 8 wmax = J\'"max (4) ?L.max =8 J\‘"rrlax

82. A Carnot engine working between 200 K and 500 K has done work equal to 800 Joules.
Amount of heat energy supplied to the engine from the source is

200 K $0000 500 K © %83 99T D 50§ moxS 800 °%) 59 Fhos.
2IED0 008 ouHH WoSHEDS ¢H I Bwdsw

2000 800 1600 4000

= —] — —]
(el @ 3 By~ &

83. The rms velocity of a gas at T °C is double the value at 27°C. The temperature T of the gas

in °C is (assume that the pressure remains constant)

T°COE 28 srasnd) rms K S0, 27°C OE HI) Vo0H&H TEoR) od. IBnYH)
sTHS T, A ."':ooe.?LﬁSoe?-‘ (D&H0 Qo &otwodd Ao W)

(1) 820 (2) 1000 3) 195 (4) 927
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84. Two trains A and B are approaching a platform from opposite directions. The siren in the
station is making a sound at a frequency 4 kHz. The passengers in the trains A and B hear
it as sound with frequencies 4.5 kHz and 5 kHz respectively. Then the velocities of the
trains A and B are, (velocity of sound in air = 340 m/s)

A $:0050 B @3 TBodd B¥ $g8TE B0 2€ FE FEod BABBIT)ow.

RaSS® HI) PGS 4 kHz FHiRHgos’ dyo T0d. TFy A 00K Bs®
PI) (PosrsHor @ Py $8%Bm 4.5 kHz $:005%0 5 kHz d:)dgo do
Fygeeomr D08 A, B 3¢ Fros (mOS® $3d VKo = 340 m/s)

(1) 75 m/s, 55 m/s ) 85 mls, 8.5 m/s

(3) 42.5 m/s, 62.5-m/s (4) 42.5 m/s, 85 m/s

85. According to Rayleigh Scattering law
(1) Small-sized dust particles scatter preferentially smaller wavelengths of light.
(2) The large size dust particles scatter only light of short wavelengths.
(3) The light coming from sodium lamps show Rayleigh scattering very efficiently by large
sized dust particles. :

(4) The light of only longer wavelengths is scattered more in earth’s atmosphere.
org®-HOE Ve Vol

(1) D$) H0Sredn Ho §rd vmPw Swmdfom oy E¥od Bgrgd),
5208 HOF DIow :

505700 EOAS SO vmHos vy SSonBFgo ad) 5708 S (S

EREMY
&

»0 EOAS S7r® vemdoe 8050 BHo $0d BST 5708 o°gd

2)
o

(3) DG DO
Q
D

4) ¥ Tedswos® 6g SSofne 5708 5SS HOZ HBoHD

86. A Telescope using an eye piece of focal length 3 cm has a magnification 10 in normal
adjustment. If the Telescope is now used to view an object placed at a distance of 180 cm
from the objective, the new length of the Telescope is (assume the final image is at infinity)

3 208 Do Tyrgoddsn So of LLEdN &J) SErEE0 0 B/ooEy ©SFID0
o Hurtes® 10, $By EOED %508 180 0.2 Sr8dns® SNHD
SrEerd8 Srd80)0 evTrAoDLK, ¢ SrdEdd Ty §E PEH (DO
(58Dovdn ©308 SrEENS” @ EIE BDN) ‘

(1) 39 cm (2) 32 cm (3) 33 cm (4) 36 cm

Rough Work

AM 2015 D 36 S



87.

/D\

A monochromatic light beam of wavelength 5896 A is used in double slit experiment to get

interference pattern on a screen, 9™ bright fringe is seen at a particular position on the
screen. At the same point on the screen, if 11th bright fringe is to be seen, the wavelength
of the light that is needed is (nearly)

w8 868 S80AB g g0 5896 A Ko 5708 Hozmo mod HOY BTrHos® $3888w
R0 0798 NG Fodrw®H TEu808. %oa_ys NS ¥ QLR FId0 ¢
9 3 dogBiocty DY 30838 B985 K T FIsw 5§ 11 5 GogdBeas
DY E3wmrood, ssoS so0s Bogy SSonB g g0, (drdonm)

(1) 7014 A (2) 4824 A (3) 6780 A (4) 3525 A

88.

Electric field on the axis of a small electric dipole at a distance r is E, and at a distance
of 2 r on its perpendicular bisector, the electric field is E,. Then the ratio E,:E, is

28 D) ASgE BYS vEo> 1 SrSodt DSgE F (S0 E, H08050 o wow
QHo0gPodS T 2r Srost Qg8 F (So E, wond E,:E, 438

(1) 1:16 2 1:8 3) 1:2 4) 1:4

89.

Thin plates, each of area A, of four identical capacitors are arranged such that adjacent
plates are at a distance d apart with air as the medium. The plates are connected to a source
of V Volts as shown in the figure. The charge on plate 2 is

28 500 Bwogdn A mHo Seod DIZOITI S BrDes Hensd Hofods
© J5) doso Hgg d Srddw 0B VRS WBEID. & Does V Sfoo Ao
S8 aIEINIH DOIHS® S-S DEJomr BoBoBwAESD. Ho¥ 2 > do
BTIB0 Deod

pha gl e o
e. A 2¢e, A e, A €, A
0 S 0 0
v e 3 V 4) ———
@ L @ ~3 g L o
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90. In Gallium arsenide material, Ohm’s law does not hold good because

(1) resistance is infinite

(2) negative resistance exists in the voltage-current variation
(3) current goes to infinite at very low voltages
(4) current remains constant for any value of voltage

mOo%0 969-‘@5 @55"56&506“, éJSJD Do%aHoH H8 0D, DOBIES M,

(1) A8 B» edodo

(2) éage'a - 36355 ESERSAR Y K)\)‘do;)e'f' Soes VG EHH EONBNI)
(3) wror wo) S‘Qa 5 JBogs (dardrdo ©30830m Godod
4) @ T2 DooH T D8 (DI %don" & 08950

91. Match the following
A B
(a) Michael Faraday (¢) Quantum model of Hydrogen atom
(b) Niels Bohr () Laws of electromagnetic induction
(¢) J.J. Thomson (g) Discovery of Neutron
(d) Chadwick _ (h) Discovery of Electron
& (80H T 28HES0d ' | '
A B

(a) 8 D53 () (@S DS 5°00%0 JdHra
(b) Sy 3*6 (f) DBogtaosdyod (D8 dobodren
(¢) JJ.mHR (8) JrgerS saRy b
(d) a8 (h) QoFIS vaR) e
The correct match is
ad HoTS FdoY

@ ® @© @
(I ey @ A (R)
@O @@ O (@
@) @
@ () (@ @€ O
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Dimensional formula for coefficient of restitution
Lﬁ.ba‘?gzslg‘:s o EHnSEH & qi‘f"dagv‘
(1) MOLOTO (2) MLT! (3) MT? e dd) MIT

93.

A stone is dropped from the top of a tower of height 45 m. One second later another stone
is thrown down from the top of the same tower. Both stones reach the ground at the same
time. If g = 10 m/s?, magnitude of the initial velocity of the second stone is

2% ocond 45 M. DE5) IPSoD H008 (8008 06078, & DES So7e s
078 orond) ©T FPIBND 3008 (8088 IO Y. Tod ooy S0 B0

J0Trow. g =10 Do/, wond Bodd cron &9 K B85S
(1) 25 mls @) 125 m/s (3) 8 m/s 4) 16 m/s

94.

The position of a particle is given by T =3ti - 4t23 +5k . Then the magnitude of the velocity
of the particle at t = 2 sec is '

w8 §@ 90 (800 DFom adgwdss F=3ti-4}j+sk. t=2%. 5& o In
D0 S S

(1) 276 m/s (2) 246 m/s () 255 m/s (4) 265 m/s

98.

Three bodies A, B and C are projected with the same initial speed with angles of projections
30°, 45° and 60° respectively. The body/bodies having maximum range :

A,B 08050 C 03 Sards SuHoo 80 30° 45° 528050 60° Sero s D505
SO 588 (vho ToHhwadd. d0% & gRD FOAD SWP/HDoHoo:
(1) B Q) A (3) AandB @) C

: A 58050 B

96.

The vectors A,Band C are such that |A|=|ﬁ|,|é|=ﬁ[ﬁ|andﬁ+l§+é=0. The angles
between Aand B, BandC respectively are :

D80 AB $08» Co HDowoddw |A|=|B|,|C|=+2]|A| %8050 A+B+C=0-
A,Bo g, B,Co $¢g Sasven $8dm

(1) 90, 135° (2) 90° 45° (3) 45° 135° 4 45° 90°
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97. A car is moving at a speed of 60 km/h traversing a circular road track of radius 60 m. The
minimum coefficient of friction to prevent the skidding of the car is (g =10 m/s?)

60 o. TgFgdn o uf HyEsd 8°¢o $rgo Moa a8 28 60 8.2:./60&
568 (PArBRS)0. 5280 P8 %H0@ VardowhEH eddddMN 53‘%1 e e £
& = 10 H/2%) - ' :

(1) 21/54 () 15/44 () 21/44 4) 25/54

98. When a force F is applied to a mass m,, its acceleration is 6 m/s?. If the same force is
applied to another mass m,, it gives an acceleration 3 m/s%. If the two masses are tied
together and if the same force is applied to the combination it gives an acceleration

2§ wodn FdH m ($530°8% (dTrAoSm ord Sgdmdn 6 Sol20%. o8 SEARY
mz.LCS:DSO"a‘ED BTrAD oo Sg8mdn 3 Sl Bodd (B3 orhod 0D
83 SGard o8 wodn DOTrRSND (DIrATY woDd §0A0T Sg8mdw
(1) 3 m/s? 2) 2 m/s? (3) 1.5 m/s? 4)" 1 m/s?

99. A particle of mass m is moving in a circular path of constant radius such that the centripetal
acceleration is varying with time as a_ = k?r t2 where k is constant. The power given to the
particle by the force acting on it :

m ($Hg0°8 Ho ¥ wdo I TgrgSn Ho Syses°8 aﬁrgoé‘ o wdToS
S8 d0 ac=k2r ? 03 DNEE00dH *3 srooS i Sr&sd)8. afd k
200w, © o HAV D oo Erd8 oS JDHod gd»

(qi) 2nmk?r’t (2) mk*’t (3) zero (4) mmk*t

100. A bullet is fired from a gun with a velocity 30 m/s at an angle of 60° with the horizontal
direction. At the highest point of its path, the bullet explodes into two parts with masses
in the ratio 1 : 3. The lighter mass comes to rest immediately. Then the speed of the heavier
mass is

2¥ S8 008 ¥ w0BES 30 N/ TASNE §8x= VIrodd 8FH 60°
Eodne® HOYTE. o Srgos® K0L K & WS, Edgorden 1:3 JHI),
Bodd grmeomr T OIS0 BodIB. B0% (g0 TooI Jiyo DAE $DHI8.
@D PEs pHIS ($5g0°3 I
(1) 20 m/s 2) 10 m/s (3) 5m/s (4) 30 m/s
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AM2015D - 40 S



/D\

101. A loaded gun of mass M fires a bullet of mass m with a velocity v at an angle of elevation
8. The gun is initially at rest on a horizontal frictionless surface. After firing, the center of
mass of the gun-bullet system

mv cos 0

(M +m)

(1) moves with velocity

M+mJ
mvﬁnﬂ)
M+m

(2) ‘moves with a velocity v(

(3) moves with velocity (
M —-m)

=
(4) moves with a velocity _E\AW in the horizontal direction

M (8550°8 0N wBLE JoBwS) 28 8 m (BS530°8 Ko a8 wBED v
SH508° 0 63)8 Fasost DONTE. S8 FOm ¥ §8= HIroSY g
Sird Sodn D& a%)0. DS S5 Sr8-wmTE $35% (ESg08 (Sodw

my cos 6 . '
(N ‘M+m) SHB0E ¥Sr008508
m
(2) \{Mﬂn] JHES0S* ESrend0b
, n0 ;
€ (nr::in:n J SAE0E® EBoendo06
v(M —m)

4) K08 E§8a HITroSE BAS® E&re0808

M+m

102. A solid sphere and a thin spherical shell of same radius rotate about their diameters with
same angular momentum but with different angular velocities. If M, and M, are the masses of solid

sphere and hollow sphere and if their angular velocities are in the ratio 1 : 2, then ?&LJ is

2
a3 FTETEDN DAL 28 Dod A ¥S» 2wl MO FSn o6 Fgddve Do 28

Stdty (855 Shsw, 298 S'cdc Friswos® Wwsn Fokesoy9)D. M, M, o
Hod A edw, Ho AIsne (BSgorhoon 38 ol Fifsne V28 1:2 wond

M,

RSN S [M_z] R)‘éngg

3 1 10
(1) 3 & .(2) 3 (33 _ (4)
Rough Work

AM2015D 41 S



D\

103. A heavy brass sphere is hung from a weightless inelastic cord and acts as a simple pendulum
with its period of oscillation T. The sphere is immersed in non-viscus liquid of density
1/10 of the density of brass. Then it will act as a simple pendulum of period
8 $Wd ©PBFDE D of w6HIS add FEsnd (Bordddard. «b
T Sfoarddd sodnd) oo ofdnm (DIGNI8. & o), ) GR)
(8506* SnoDTE. (BHo FoE, add Jo($SS® 1/105 Sods HIB. @D pdks
v S 08 SoTdd stosnd) STofsom (DS5EN08.

10 9)? 10
(1) " @ T © [E} T \ET

104. A light planet is revolving round a massive star with a period of revolution T. If the
gravitational force of attraction varies as 12 then T? is proportional to (r is the distance
between the planet and star)
2¥ BOBS (HErdn WS (B3g0°8 Ko SF (S Dogr T (FSoerS8d sood’
HO|FWIF0d. Hhergidn woo o2 e 55808 wdypdo T? & edStsrdordomnr
G0BO (KFrdw, S (S0 Hogg &rdo n:

1) 2 @ 12 3) 12 @) 72

105. The temperature of a steel rod placed between rigid supports and of length L, area of cross-
section A, Young's Modulus Y and coefficient of linear expansion «, is raised by T. The
amount of work done when heated is
;&) L, a’)quSTD‘QCS STogdn A, 05508 Hoe0¥H0 Y H06 05w ;@gg a‘g?ﬁ o0 &S0
a &5) 8 &¥y §§D ByF S wororo GG &0, o eSS T
oG, IE TVSwbdod =0AS DI Jwddn

YAo?T2L YA aTL yA2a2T20? YAaT?L

(1)._7_ @) T (3) B 4) 5

106. The ratio of the pressure (P) on a swimmer 10 m below the water surface of a lake
to that of the pressure on the surface of water (P,) (Atmospheric pressure = 1 x 1_05 Pa,
p=1000 kg m> g=10m/s?) is
2¥ HE Fose® DB Sood8 10 & FHS HI) af HEMID DEIINILH
58 Sodnd H05) HESIsH Ko )Y (Tesde HEIZH =1x10° Pa, p
= 1000 kg m™, g = 10 m/s?)

(1y:1 (2} 12 (3) Zero 4) 3
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107. A sphere at 600 K is losing heat due to radiation. At this temperature its rate of cooling is
R. The rate of cooling of this sphere at 400 K is (temperature of surroundings is 200 K)
600K 5 a8) A¢Sn D8wo ago° aho S %s)0. & aFHS 3§ ©b
ST Téw R. & A*¢S» 400 K DG a0 @0 ST T (wd8n PHS

ZOOK&élé) ;
1 ._S_R ER iR
ay — & 3 3) 7R )=

108. A message signal of frequency W, is superposed on carrier wave of frequency W, to get an
amplitude modulated wave (AM). Then, one of the angular frequencies of the AM wave is
(1) equal to the amplitude index of the carrier wave
(2) equal to the angular frequency of carrier wave
(3) equal to the modulation of the carrier wave

(4) equal to the amplitude of the carrier wave

E0dDS H008 &’)J'éogé‘és (AM) ddom) oo, a¥ T (HIYY DoTSSw
By ;IYSgdn W Ko, TWE 0N FIiSgdn W, & 0org8tho .
EoDS VOB IrdogBLs d8ody W) a8 ok FO1R B g0

() &rd S50y SrdgBas hndsns® HErso

2) oS SS0nY Sedad PI:Igsns® virSo

() TS SS0dY SrdgTRSS® vdrdo

4 TS SE0KD) F0HS HONSS® HIrS0

109. A circuit diagram of CE transistor amplifier is given in the figure, then
CE (&S558 égéo By Seddo Hoodst 2530358, wond

CZ
ZIREEC “—"" _—.l
IC RL 1
E] Vo
VCC |
[
)
T
(D Vo ¥ =V LR @ Vg - Voo - IR, = LRy
(3) IR =IgRy + ALR, @) Vgo=Vg + IR

VBB = VBE 2 IBRB for Vi = ()
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110. pn junction diodes are arranged as shown in the figures (A and B). Identify the bias applied
to the diodes. :

¥ Q

>

(1) Both (A) and (B) show forward bias

(2) Both (A) and (B) show reverse bias

3) (A).shows forward bias, (B) shows reverse bias

(4) (A) shows reverse bias, (B) shows forward bias

Herg® A 550050 B ¢ Sr2340 pn 008 $TrEo0 958 285. $BrEodH
00508 pdrod Hfowsod

(1) A$56050 B e Todkd @5‘%’530 'wja‘%a‘é)ja‘looo

(2) A %8050 B e Bodo 88 40 WrndyIe)on

() A DB HE0 pairS Srb08, B 8680 werd SrH00

(4) A 88 ¥¥30 ward SrHHes, B P& FEJ0 wArd IrDH0

Rough Work
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111. (A) Ina ﬁ‘ decay in a nucleus, a daughter nucleus that has discrete energy states is produced.
The daughter nucleus reaches ground state from excited state by emitting y-ray.

(B) The binding energy of hydrogen nucleus is far less than the binding energy of helium

nucleus,
(1) (A) False, (B) True (2) (A) True, (B) False
(3) (A) True, (B) True (4) (A) False, (B) False

(A) 28 SoK%os® B~ Easo BoRSD Y ISE FEJroven $OAS wdg SoE¥o
838 TVohadodod. =dg Tod¥o y-88m =JodTokhdo 3o &8
Frone 08 Frrond T&h$os.

(B) o &=S So8¥o gy 208D $8 WrO%0 Fo$¥o wogS %8 %08 e

ééoa_é
(1) (A) ééy, (B) @=0 ' - (2) (A) =0, (B) é‘b;):
(3) (A) Q=zo0, (B) dzo0 4) (A) é‘o’a;)o, (B) e‘S‘o’:y

112. The values of potential energy, kinetic energy and the total energy of the electron in the

fourth orbit of hydrogen atom are respectively
28 Fr@ad 208wt soad €s6% JogiSh SBYSHS 43, K8 48
D00 Bwdo 48 Dewden SEbHm

(1) -1.7eV, -1.7 eV, -3.4 eV (2) +1.7 eV, +1.7 eV, -3.4 eV
(3) -1.7 eV, + 0.85 eV, —0.85 eV 4) -1.7eV,+1.7 eV, 0
Rough Work
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113. In Davisson-Germer experiment the decrease of the wavelength of the electron wave was
done by

(1) keeping the same potential difference between anode and filament
(2) decreasing the potential difference between anode and filament
(3) increasing the potential difference between anode and filament
(4) keeping more distance between the anode and filament

BOa5-8E5 (HTrEoS® Jdogryd SCodBPso Sfde TdnedH Bod

() o868 o0& Hogg $rEH B FBIAS FSED GoBod oogo
() oFEE HoolE S8y SBIHS FE5» Sfoks o

3) uSE8 PooEE $gg PBJHS PSS» Wode Gy

4) o368 HoDoss Sogg &rdo a.éa&érr' RO 'c:."°s'c*

114. An electromagnetic wave is travelling in a medium of permeability p and permittivity € .
If ‘c’ is speed of the wave in free space, then, the refractive index of the medium is

p, 0305008, € HOEIE KOAS Brdod® af Jdglohdy o8 Sdoro
(HSr8T00. © SSofo TwE) Sdo dsstdos® ¢ wowd, Srdgo W
S8FSS Hom¥o

: 1 |B €
1) ——— @ - E—"‘— 3) c\/% - @) e, By

1S
Hm Sm -m

115. A resistor 20 €, inductive reactance 15 Q and capacitive reactance 15 € are connected in

series to an AC voltage source V =200+/2 sin ot . Then the maximum current in the circuit
1S

20Q 3558,550, 15Q L_'sobdgés 6335_5@059 [&550 Hodosn 15Q géoé‘s @’3@5‘45050
>BuEo% V=200+/2 sin ot SPen) dsc0sd 5‘§a 255708 (ABS* H0HoNVID pd,
o S00%0d" 0% D&ogs L‘Saa*ﬁ*o Dend

(1) 1042A 2) 10A (3) 20A 4 20/2A
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116. The magnetic flux linked with a coil varies with time as ¢ = 3t + 4t + 9 webers. The
induced emf at t = 2 sec is I
2 8 Hob%H ©5V0TAoDS VI 08 WHTITIN TodNS’ o=3t+4t+9
Soboomr Srddedys. t=2sec 5§ (0O Dogyof podn oD

(1) 1V () 6V (3) 16V @ 10V

117. A bar magnet of magnetic moment 20 J/T lies aligned with the direction of a uniform
magnetic field of 0.25T. The amount of work required to turn the magnet so as to align its
magnetic moment normal to the field direction is |
28 $0a° ©adI) 08y I 08 (FrloEDw 20 J/IT. o 0.25T 2%68 ®aI) 0d
38 04S° B8 T0. echdyoemd), o eI od ([rHEsw, 3 (&8

00O S0TWLLY (BYSD pd 20T D Jend

(1) 0517 (2 031 T4e)- 0l ) (4) 0.107J

118. A galvanometer of resistance 99 Q requires 5 mA current for full scale deflection. It can

be converted into an ammeter of range 0.5 A by connecting a shunt resistance of

99 Q I8 FI» Ko MmogTSrdEdn 3»%5630 WS 0VBEI5» Boders 5 mA
S8 (P Erdn IV, oA 05 A edEHI0 (range) A& D8
D5erdE oS Hod IS SH |

(1.) 1 Q : (2} 2.0} 3) 4Q | (4) 3(2

Rough Work
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119. Two concentric coils, of 10 turns each, are placed in the same plane. Their radii are 20 cm
and 40 cm and carry 0.2 amp and 0.3 amp current respectively in opposite directions. The

magnetic induction (in Tesla) at their centre is

w8 K8 10 oo Ho Tods 28 So8¥ 84 Shod ¥ Svos® soBo
wdoo 8. ¢ mgé‘géwm SEBr 20 cm 50050 40 cm, Ho0 S FITR aego°
S0 0.2 amp H:8050 0.3 amp © Jog8 $g8TE dFoS® (BT BT ow. &

So8s» & wohIpod (DEm Jeod (BISY)

5 | 3
1) 7 K @) 7 Ko
9 219 7
B) FH | @ 7 M

120. A non-conducting ring of radius R has charge Q distributed over it. If it rotates with an

angular velocity o, the equivalent current is

R ogddn o of omirdl SocboDd vFfo Q 280836, ©8 o Sdas
ShS5NE FHowdw TRI ddo, $og IS (DITR) oo

Qu Qo Qo
M) 7R 2 Qo | G R @ S0
Rough Work
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CHEMISTRY
121. O = C—NHNHCH(CH,),

Fh

N
Drug (I)
S20 (1)

The above Drug (I) is an example of

(1) Antacid (2) Analgesic

(3) Antidepressant : (4) Antiseptic

D Ho0& (D e

() wd I°FE5» : (2) Dy VG FES»
3) FrgHhoa I EESn 4) D0 I8 ¥S»

122. The correct order of reactivity of the following iodides in S22 reaction is

832 1.‘55565 (8od oTWr@B&o ToE) HOTD ﬁmg%oé (¥o0

i) H3CCH2CH2CHZI (ii) (H,C),CI (iii) H3CCH2(’3HCH3

3 I v

(1) @) > Gi) > (i) (2) (@) > (i) > (i)

@3) @) > @) > (i) : (4) (i) > (iii) > (i)
Rough Work
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123. H, H H
OH
OH
. H
X Y Z

Identify X, Y and Z.
X, Y 50050 Zod #80Rdw.

X ' Z
(1) m-Cresol Catechol Quinol
m- 8>S BT 8’5
(2) Catechol Resorcinol Qumol
368°S 00 S'S 8S°S
(3) o-Cresol Resorcinol Catechol
0-8>S 0 r0S'S GG
(4) Resorcinol Catechol 0-Cresol
00 )S'S BT 0-§>rS

124. Identify Z 1n the following reaction
80 1565 Z35 8 oRbw

i) Ba(OH),
S8
(1) H,CCH,CO,H
(2) 2H,CCO,H
(3) H,CCOCH,CO,H

H3
(4) H,C—C=CHCOCH,

2 H,CCOCH

NH, “OH
125. H3CCH2C02H 7 X A > Y
What are X and Y ?
X 390050 Yoo 272
X Y
(1) H3CCH-2C0NH2 3CCH CH C02H
(2) H3CCH2CN H3CCH CONH2
3) I—I3CC1-12CONH2 H3CCH CO,H
(4) H,CCH,NH, | H,CCH, CO H

Rough Work
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(H,CCO),0 Br -

= 4 X 2 Y Z
Pyridine 5,545 W (Major)—>

126. NH

(HF°2)
Identify X, Y and Z.
X, Y Ho80%n Zedbs ﬁago‘@éw.
X ) Y Z
GOCH, GOCH,
N-COCH, : N COCH, ' NHCOCH,
o s 3
Br '
NHCOCH, NHCOCH NH,
Yom
Br
NHCOCH NH
NHCOCH, Br 5 3 Br 2 &t
3) © _
Br Br
NHCOCH, NHCOC NH,
Br
4)
. Br

Rough Work
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§ 3 i If the standard molar enthalpy of formation of Ca0(s), CO,(g) and CaCO,(s) is 635, -393
and —1207 kJ mol™! respectively, the A H in kJ mol™! for the reaction

CaCO,(s) —» CaO(s) + CO,(g) is
Ca0 (%), COx &™) $0005» CaCOy(d)o (ddre Irocd voFRD Homrdye
$8%bm —635, —393 $o805n —1207 kJ mol™”! eond,
CaCO,(9) — CaO($0) + COL™) S8gH A, H® kJ mollos®
(1) 965 2) 2235 (3) +179 4) 179

128.1f the K of a sparingly soluble salt, A;B, in water is 1.08 x 1078 mol® L5, its solublhty
in mol L

28 aoau:raf)rgoﬁo o$©0, AB,E d8® K, 1.08 x 107° mol’ L eond, &
(EHe80%8 mol Llos*

() 16 (2) 1072 (3): ‘Fo8 %102 . My e

129. At a certain temperature, for the equilibrium H,(g) + 1,(g) = 2HI(g), if the equilibrium
concentrations in mol L™! are

[H,(g)] = 0.20; [L,(g)] = 0.20; [HI(g)] = 2.0, its K. is

2€ 0% SPES 3¢ Hy(m) + L(@)=2HI(7) $5e°38°, 0508798 mdde
mol L'os® [H,(a)] = 0.20; [L(=%)] = 0.20; [HI(®)] = 2.0 wond, o= K,

(1) 10 ) 0.01 (3) 100 | @ i

130. Hydrogen resembles alkali metals in many aspects but differs in
(1) Metallic characters " (2) Oxide formation
(3) Sulphide formation (4) Halide formation

o*@"aaS oo HE% gEStStes SOLeoss 58000 s‘f\) BAS* bﬁm&);
ﬁrao_oy&’?

() S*ergoryode E0A sodbo
(2) 8331805 A8 )SwO
3) }6§9592\’:a Ddadéé:o
4) $8&od Ddgdﬁé&o
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131. Which lithium halide is soluble in pyridine ?
DORSS® €8y OB oo 5508 267
(1) LiF (2) LiCl Rl ) S (4) LiBr

132. What is the nature of aqueous borax solution ?
(1) Acidic (2) Alkaline (3) Amphoteric 4) Neutral
08y moErdmo (HI)B dDE?
(1) e . (2) g¢ (3) Bgdgwd CORMRC 139 |

133. What is the catalyst used in the following reaction ?

: __Catalyst .
2CH,C1 + Si —= =8 (CH,), SiCl,

(1) Copper powder (2) Zinc powder
(3) Platinum powder (4) Nickel powder
§ods ERT MR 15656‘ GO T/orA oSy &333650 8 ?

; 6303550 ;
2CH,Cl1 + Si e (CH,), SiCl,
() s*586 ara : (2) 20§ >a
3) F8d0 & (4) OS5 4

134. What are the heights (km) from the sea level for Troposphere and Stratosphere ?

(1) 5 and 10—50 (2) 10 and 10—50
(3) 10—30 and 5—10 (4) 10—20 and 1—10
VIN(E Hogo K08 (E*FBEwmo HoB AW F9IS* S S ddod (km) dos?
(1) 5 $5805% 10—50 2) 10 $:805% 10—50
(3) 10—30 S08 050 5—10 (4). 10—20 H0060%20 1—10
Ro.ughWork
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135. The ITUPAC name of the following compound is
H

(1) 4-hydroxy-5-methyl-hexan-2-one

(2) 2-oxo0-5-methyl-hexan-4-ol

(3) 3-hydroxy-2-methyl-hexan-5-one

(4) 5-oxo-2-methyl-hexan-3-ol

(808 2By ¥So Vg IUPAC oo
H

(1) 4-Z°(@°8)-5-0BFS- 2 BI-2-43
(2) 2-68)-5-0JS-8)5-4-4S
(3) 3-Zr(@°8)-2-0BS-B)S-5-48
4) 5-683-2-0FS-WrT)S-3-49

136. Which one of the following statements is not correct ?

(1) Alkanes undergo halogenation by -free radical mechanism.

(2) Ethane exhibits conformational isomerism.

(3) Sodium acetate on heating with soda lime giveS methane.

(4) Electrolysis of sodium acetate gives methane.

808 VSEHOS® DO VOTRIE 5°¢?

(1) 85 :oswg (8208 Sovg Igrdo argor ‘.ﬁ*é‘af&gdeao Bodsron
(2) $BS ©JErd JSyfgod (HE8IH00

(3) 8050 ADBES e BHE I8 T DBPIJ adoed

(4) T80 ANBE DBogBITARS® 5)36‘5360 22000

~ Rough Work
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137. Which one of the following statements is correct ?

(1) Deactivating groups are ortho and para directing groups

(2) Reaction of benzene with 1-chloropropane and anhydrous AlCl, gives n-propylbenzene
(3) Electrophilic substitution of benzene takes place via cr-complex

(4) Cyclohexadiene is an aromatic compound

(808 JBEnOS® DB HB8TNGS? :

(1) A%HBug LIHodsen ©8" H0dsn o PO AYAE dSarten

(2) BoEIS%o 1-88° DS a’bof}dﬁao ddo AICI o8 I8¢ aﬁaéeydﬁa n-(* DS
BodI% g™od

(3) BoElSS® Ju§9HOF Lﬁ.‘aaé‘ém $8g 0-%08§ho oo @wEKHS08
(4) DETENTBEHS 28 08S5r8E :633;@:\{)0.

138.

A compound is formed by'elements ‘X’ (cations) and ‘Y’ (anions). Ions of Y’ form cubic
close packing (ccp) and ions of ‘X’ occupy all the octahedral voids. What is the molecular
formula of the compound ?

28 DogSn, droster X (SOdrSeo) $08050 Y (sddrSw)os QE3&08.
Y &»s’a, OAEFS DAY E DoXErG) (cep) AEE W, X BooE) e5rSen
SEME -1 doLcro&)loeSSJ eLga:oﬁogoa*looa oaa‘géao [SSELY @m@*do&m Q8?2
(1) XY, (2) XY (3) XY, 4 XY

139.

The density of 20% (w/w) aqueous KI solution is 1.202 g mL~!. What is its approximate
molality ? (molar mass of KI = 166)

20% (WwW) KI mo (orde)) o 1.202gmL™. o°d szronod) Sreordd Jod?

- (KI ®Bo¥), Jrerd Lcsa’ago‘% = 166)

(1) 0.5m 2) 1.5 m (3) 015m 4) 25m

140.

An aqueous sucrose (molar mass = 342) solution is labelled as 20% w/w. What is the mole
fraction of water in this solution ?

w8 2r8*E (Brod (BOgoeB =342) 2o () 20% wW/w  brDowedy. &
(T°500S® 8 IS i Dood?

(1) 0.955 (2) 0.987 (3) 0.961 (4) 0.945

Rough Work
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The conductivity of 0.01 mol L™ KCI solution is 1.41 x 107 § cm~!. What is its molar
conductivity (in S cm? mol™!) ?

0.01 mol L™ KCl (or$nd adrgdg0o 141 x 102 Scm™. ovd Irerd adrgdgo
(S em? mol™! ©&*) Do ?

(1) 14.1 (2) 141 (3) 1410 (4) 141
142. Assertion (A) : The rate law of a reaction cannot be predicted from its balanced chemical
equation, but must be determined experimentally only.
Reason (R) :  The order of a reaction is always an integer like 0, 1, 2 and 3.

The correct answer is
(1) (A) and (R) are correct, (R) is not the correct explanation of (A)

"(2) (A) and (R) are correct, (R) is the correct explanation of (A)

(3) (A) is not correct but (R) is correct

(4) (A) is correct but (R) is not correct

V3ED0 (A) : ¥ Bdg Béw K)ﬁ)ﬁéea‘&")l (PoIrmd, o (B VB0 0WL TR
T Soogo TBohwds IS dEIwo $90s Dg*&odéa’m.

s*de0 (R) : ¥ Sog(¥drofdn JoRde 0, 1, 2, 3 IT o8 Qrgro¥o.

80 DOTBS DIFrFId0

() A) Knao‘.‘u: (R) &0 50513, (A) ® (R) D0TpS 2H8e 5°¢%

2) (A) X005 (R) o 96;@32\‘93, (A) % (R) DO ddew

(3) (A) 20036 570, 57 (R) S00058

4) (A) JP0TDIB, 572 (R) DOTDHIH s7°¢0

143.

The order of coagulating power of PO;’f L SOi‘, and CI” in the coagulation of a positive sol is
28 I S HodS0s’, PO, SO 00 CI” © Hpo8d gy (EH0
(1) B0 = 80%F > €l @) CF >80%> PQY
(3). Cr >POT > 507 4) SO* > CI” > PO}

144.

CaCO,MgCO; —2oy X+ Y +Z
What are X, Y and Z in the above reaction ?

-,

) 6656‘ X, Y $080% Z o D2
Y z

() Ca0  MgCO,

2) CaO  MgO 206

3) Ca Mg 20,

4) CaCO, MgO  CO,

Rough Work
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145. Match the following

List-1 List-1T
Oxoacids of Phosphorous Oxidation State of Phosphorous
(A) Meta Phosphoric O +4
(B) Pyro Phosphorous (I +1
(C) Hypo Phosphoric (1) +2
(D) Hypo Phosphorous (IV) +3
(V) +5
(Bod T8 aSHSasobw
AL R | Rec-11
FOYES eSyuDE | 085 edyEdn 98
(A) Dot 08 : @M +4
(B) & 0388 (1) +1
(C) 37 ary08 () +2
(D) =t &6965 ' (IV) +3
(V) +5

The correct match is

RO DO DBrerSd»
A) B (© @

) @) (D@

2 avy am @

G) @ avy am @

@V av o @

146. In which one of the following reactions, a 16 group element will get precipitated ?
Bod @ $8ge®, 16 & (ArD Swrofo wSEDEHHS06 2

(1) Na,SO, + Cl, + H,0 — - (2) Na§,0, + CL,'+ HO —>
(3) 2FeSO, + H,80,+C, — (4) SO, +2H,0 + Ll ey
Rough Work
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147. For the first row transition metals, the E® values are

E° % Cr Mn Fe Co Ni Cu

M*M)  -1.18 090 -L18  —044 —028 —025 +0.34
What is the reason for the non-regularity in the above values ?

(1) non-regular variation of ionisation enthalpies

(2) different number of electrons present in M** ions

(3) non-regular variation of ionic radii

(4) the variation in densities of transition metals

088 (Hd 90588 e E° Deode 808 dFom daryom

B \% Cr Mn Fe Co Ni Cu
M*/M) -1.18 -0.90 ~1.18 044 028 025 - +034

D donden ¥ (B0 TEIS@I8 s°Emo DB ?

(1) ©0588m dogrdyod® Irdy af (¥ B’:cgéé“ TEFH %0
2) M* eddrSos® 228 Dopgs® JogTaSewodo

(3) @rI¥ a*g.f)*g‘ed‘ d7°82) w¥ (M ‘éocgécs* BEENT-1e)
(4) H0583 Sarosto Jo(BSS® Srdoyes

148. Which one of the following complexes has more magnetic moment value ?
(808 Vo3 rod® BIS ¥ woHIpod (FHoE Jood Fodkd?
(1) [Fe(CN)(*" (2) [CoNH)**  (3) [Fe(H0)I** (4) [CoFJ*

149. Identify the addition polymers from the following
(i) Terylene : (i) Polypropene
(1i1) Polyacrylonitrile (iv) Nylon 6
(v) Polyvinyl chloride
808 a8S® Do¥od FOSTos Kb oHdn
() BOOS (ii) O DS (iii) >OIB 95°IB9S (iv) 3w°S 6 (V) rOIIS §° B&
(1) (@), (i), (v) ) (), (ii) (3) (@, (v) 4) (Gi), (iv)

Rough Work
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150. Which one of the following has two a-D-Glucose units ?

(1) Maltose (2) Sucrose
(3) Cellulose (4) Lactose
$ob >8S° 0 Todo a-D-frs'S Bordhdo EOAWBNI)E
() drg*E (2) Ho8°F
) “omsé“ﬁ BB o §'S

151. What is the volume (in mL) of 0.5 M NaOH required to prepare one litre of 0.2 M NaOH ?

28 O&¥> 0.2 M NaOH %> S5 T wsdd sedoDS 0.5 M NaOH D3H0S5rmo
(mLos®) Jdog?

(1) 200 (2) 500 Q) 400 (4) 250

152. Three students namely A, B, C have done an experiment two times individually, for which
the correct value is 2.00 g. The results are given below

Experiment 1 Experiment 2
_ ® (®)
Student A 195" . 1.93
~ Student B 1.94 2.05
Student C 2.01 1.99

Whose results are accurate and precise ?

4 B, C ol Snfeds dorghor ol (HTmR) BN ToGd gy TBICr. o
(P Brrd8 wdeos Jend 200 g (dT/rd dendeo (8o& RIJVESD

PSdo 1 LB 2
(g) (2)
dergd A 1.95 1.93
@
.‘Da‘gg B 1.94 2.05
Qa‘sg C 2.01 1.99
DH0 (DT dovden HHomd, SV YBomsy aIm)ow.
(1) B ) A (3) AandB @ C
A H08a50 B

Rough Work

AM2015D 59 S



153. The gas that liquifies first, when cooled from 500 K to its critical temperature given in
parenthesis is : :
S00K 3008, $08988008" asgwdd 0odd s (S T HB0YHD RSOES0d®
FRIY B Bodd (EAYDoWNS

(1) NH, (405.5 K) (2) CO,(304.1 K)
(3) N, (126.0 K) 4) 0, (154.3 K)

154. Which one of the following statements is not correct ?
(1) For ideal gases, compressibility factor, Z = 1 at all temperatures and pressures.
(2) Viscosity of a liquid decreases with increasing temperature.

(3) The order of root mean square velocity (U, ), average velocity (U, ) and most probable
velocity (U rnp) ofagasisU_ >U,_ >U

av mp’
(4) The kinetic energy of a gas is inversely proportional to temperature (in K).

& (1808 JHEHOS” DB DOTPIO 5°E0?
(1) 6y s&AS, Ddaro H& wE8) TBRHOLH BowdD MhwEo, Z=1 vH&od
D B50 BYIS, GTESS® DEHSOEFe $f2800
(3 ¥ Tang), o Sgro v ¢ dwro Tds» (U ) SR80 (U,)
$:0080 0% Dogrsger Bdo (U, ) o (¥%0, U >U, >U
4) o€ o050 K8=48, sPHS Kos®)% ISt drsodrdos® sotod

155. Which one of the following is not correct ?

(1) Formal charges help in the selection of the lowest energy structure of molecule.

(2) Formal charges indicate real charge separation within the molecule.

(3) Formal charge of each atom of polyatomic ion can be calculated.

(4) Number of unshared electrons on the atom is also considered for calculation of formal
charge. : '

B0d TES® B DOTHIS 57K ?

() S 8w 08 S5 5 ¥8do wmo 07 e™) %28 0 &rA8 &DTrADE & 0w
(2) P& S oo 0O’ Jz T°8 IPudd SrDI 0w
(3) w50 HESTEE VRBFSSTY (H HIBreHH TS T8 BHoWHWo)

@) 85 780 BEHowWwH DESTH) NS ) H0EEd dosgTySod
Srar GHTrATE

Rough Work
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156. The dipole moment of BF, is zero because
(1) It is a covalent molecule
(2) It is a tetra atomic molecule

(3) It is having trigonal planar geometry
(4) The electronegativity difference between boron and fluorine is more
BF, 83d8yd (@rdoo dend NI). Jo&ES

(1) 38 3HTr2A waod)

(2) 38 Jreud DESrHwd) weod)

3) =28 (85°m VSode g NS EONBI0

4) $°o°S, OIS S8 g 2w Defogardq §& S SESHRY

157. The first ionization enthalpies of N, O, F follow the order
N,O,Fo 3088 «BoIEES _Joqrb;)oo FBosy (EBodn
(1) O<NX<F (2) N<OK<F 3) F<N<O 4) F<O<N

158. The metal which can form an oxide having metal : oxygen ratio 2 : 3 is
S'o : wdyeSo MRN8 2 : 3 o ¢3 )83 D8 8B oo
(1) Sn (2) Na (3) Ba (4) Bi

159. The ground state energy in J, of hydrogen atom is —X. The minimum energy in J, required
to promote an electron fromn =1 ton = 2 in He" is

(@2 HSSrand) FrJron 4§ Jod® —X. He' &* n=1 %508 n=2 & Q0593
508830 Fahadd esigsom € 48 Teost

1 2 2 9 3 -~ . 4) 3X
(s @ 7. e 0
160. Hydrogen spectrum gave a series of lines at Z—is%ﬂd%cm_] (R = Rydberg constant
in em™'). These lines belong to '
(1) Balmer series (2) Lyman series (3) Pfund series  (4) Paschen series
% ' ZIR: > =y
(&S égaabé 36 16 528 0% Too . 5y Ado (FB ad)od
R=08 6§ EIGLEE em! o) & Ao B8 $020800D3D?
(1) %06 (763 (2) 8HS (A
3) P (3 @ >aI (3
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